CAT.ES20-132 ®

Air Slide Table

Serles MXQ

e 26,08, 012, 816, 820

Uses a recirculating linear guide for high rigidity and high precision



Integrated guide rails and table

Uses recirculating linear guide
for high rigidity and high precision
Air slide table for precision assembly processes

High precision compact design  Improved load resistance

Comparison of MXQ and MXS (mm) Load resistance against sudden and excessive external
Accuracy Dimensions forces is nearly three times greater than series MXS.
Model Parallelism Height Width | Height | ©veral
tolerance length .
MXQ12-30 | ooss | 008 | 46 | a0 | 86 Symmetric type
MXS12-30 | 02 202 | s | a2 | 0 standardized
- Available with all options

Body mounting through holes

Wlde Varlety Of adjuster optlons :::. .................................... l #
Positioning pin holes .. : .

Improved work piece

5

A Auto switch mounting grooves

Auto switches can be mounted in grooves
provided on the side of the body where they do
not protrude

Table and guide rail integrated

Made of martensitic stainless steel

......... B Positioning pin holes

" Body mounting repeatability
improved

mounting repeatability T
Work piece [
mounting taps  |RARETNN

Improved strength &

End plate uses
extra super duralumin

Dual rods TE e,
Twice the output of conventional cylinders

APWL Body mounting taps

|
Can be mounted from 3 directions

1. Side mount type
(using tapped holes)

Recirculating linear guide

Wide type linear guide block body
made of martensitic stainless steel

Wide variety of options

Adjuster options and function options can be combined

Symmetric type Adjuster options Function options 2. Side mount 3. Perpendicular mount
Y yp ] p p (using through holes)| (using tapped holes)
= With stroke adjuster With buffer mechanism
l i-._ - Py e i I
- | —— = _ = Lol
. . ]
l'. o ML =
) L - Sy : 7777 A
L AL W
& - ]
1.2, L
. r N With shock absorber
s

Applications

As Z-axis for picking For positioning of pallets on a conveyor
and placing

Features 1



Series variations

Air slide Table  Series MXQ

Adjuster options |Function options|
© Standard strokes (mm) Rubber Shock Metal o
N stopper absorber stopper = .
Model o . S g Auto switches
2 2egzgeggzd 3=
@ | 10 20 30 40 50 75100125150 & T & % T & % & © B 4O %
§ 3 £ 5 8§ 6 § =
Standard type [Symmetric type | (mm) I & & L ¢ @ L & @
Reed switches
MXQ 6 | MXQL 6 6 :I I—o ®— .D-A0
MXQ 8 | MXQL 8 8 °D-A9DV ‘
Solid state switches
MXQ12 | MXQL12 | 12 « D-FOOJ
« D-FOV
MXQ16 MXQL16 16 2 color indication
MXQ20 | MXQL20 | 20 solid state
* D-FOIW
MXQ25 | MXQL25 | 25 » D-FOCIWV

M
==l

Front end adjuster Rear end adjuster

B

- - o i
© ©—@
&

& &

Three different types of adjusting bolt have
been standardized for front end rear end
and double end adjusters and cushion
mechanisms.

M Rubber stopper
Standard stroke adjuster

M Shock absorber
For use in harsh conditions
Absorbs the impact at the stroke end for
smooth stopping and improved stopping
accuracy

M Metal stopper
Improves stopping accuracy
Without cushioning function for use with
light loads and low speeds

With Buffer Mechanism

H Protects work pieces and tools, etc., by
eliminating impact at the end of the
extension stroke

H Buffer unit is auto switch capable

Buffer
mechanism

operation Normally OFFC) )

Auto switch (ON when buffer operates

Magnet
Buffer stroke

[

e —

Magnet

. (Normally onY
Auto switch \ oFF when buffer operates)

Normal
condition

OThe normally ON/OFF setting is changed by

changing the direction of the auto switch mounting.

Application example

In work piece insertion processes when there is
a problem such as faulty positioning, the buffer
mechanism absorbs the shock from the work
piece impact to prevent damage.

|

NK Buffer
mechanism

Air gripper
Work piece

With End lock

H Holds the cylinder's home position to
prevent dropping of the work piece even if
the air supply is cut off.

Cylinder air

Lock piston supply port

Spring

D

Locked Unlocked

Axial Piping Type

B Piping is concentrated in the axial direction
to maintain clear space around the body.

<

Speed controller

- =
[ I T
T 5 5 -
D—o—B—©
& & o s

Features 2



srsicell Sarjes |\/|XCQ5
26, 28, 912, 316, 820, @

How to Order

MXQ|12]| L /50||AS||FR—FON

Symmetr .
y Y Number of auto switches
Nil Standard -
type Nil | 2pes.
Symmetric S 1 pe.
L
type n "n" pcs.
® Auto switch type
[ Nil [ Without auto switch ]
Cy|inder bore size (stroke mm) ORefer to the table below for auto switch
part numbers.
26 | 10, 20, 30, 40, 50
B 10:20. 30, 40, 50, 75 eFunctional option

212 | 10, 20, 30, 40, 50, 75, 100

916 | 10,20, 30, 40, 50, 75, 100, 125 il Standard
220 | 10, 20, 30, 40, 50, 75, 100, 125, 150 P Wih buffer
25 | 10, 20, 30, 40, 50, 75, 100, 125, 150 RNote? | with end lock
P Axial piping type
FR Note 2) | With buffer & end lock
. . FP With buffer, axial piping type
I AdJUSter option ¢ Note 2) Series MXQ6 is not available with end lock.
Ni Without adjuster
S | Extension end J Option combinations
AT Rubber stopper | Retraction end P -
A Both ends ) Functional )
BS :(,IE i)) o Extension end ﬁggilgqter option | Nil F R P FR FP
BT Note ock absorber | Retraction end ;
B Note d Both ends M = = Note 3 = = = Note 3) ° Note 3
CS Extension end AS, CS o o' o o © oMed
CT Metal stopper | Retraction end AT, CT o @) X X X X
C Both ends A.C o O Note3) X X X X
Note 1) Series MXQ6 is not available with shock
absorber. BS O X @) O X X
BT @) O X X X X
B O X X X X X

O: Available, X: Not available
Note 3) With the combination of buffer mechanism and extension end stroke ad-
juster, the buffer stroke decreases by the amount of stroke adjusted with
the extension end stroke adjuster.

Applicable auto swithces/Refer to pages 37 through 39 for detailed specifications of auto switches.

é Load voltage Auto switch model Lerr i
) ) (= - lectrical length (M) | Applicabl
Type | Special function | Electrical | Wiring E ufieel pplicable
o 3 enty | § (output) DC AC entry direction i 3 load
2 Perpendicular| In-line | (Nil) | (L)
No 5V, 12V |100V orless| A90V A90 ° ® |IC circuit
=k —  2wire 24v Relay,
85 - Grommet ves 12v 100V | A93V A93 ® e | — | PLC
@ 3Jwire (NPN equiv)| —— | 5V —— | A96V A96 ° ® |IC circuit| —
5 3 wire (NPN) FONV FON (] [J
S - 3 wire (PNP) FoPV FoP ) ®
2]
2 wire
& Grommet |Yes|— 2av| 12y | — BV | FOB el & |Re
5 3 wire (NPN) FONWV| FONW | ® | @ PLC
© | Diagnostic indication :
) (2 color indicator) 3 wire (_PNP) FEPY | FR L L
n 2 wire FOBWV | FOBW | @ [J
OLead wire length symbols: 0.5m ................ Nil (Example) A93
3M L A93L

O
3



air slide Table Series MXQ

Specifications

Cylinder bore size (mm) 6 ‘ 8 ‘ 12 ‘ 16 20 25
Port size M5 x 0.8 Rc 1/8
Fluid Air
Action Double acting
Operating pressure 0.15to 0.7MPa
Proof pressure 1.05MPa
' Ambient and fluid temperature -10 to 60°C
“Hfga} Operating speed range 50 to 500mm/s

(Adjuster option/Metal stopper: 50 to 200mm/s)

Rubber bumper (Standard, Adjuster option/Rubber stopper)
Cushion Shock absorber (Adjuster option/Shock absorber)
None (Adjuster option/Metal stopper)

Lubrication Non-lube

Reed switches (2 wire, 3 wire)
Auto switch Solid state switches (2 wire, 3 wire)
2 color indication solid state switches (2 wire, 3 wire)

Stroke length tolerance Tmm

Options

Extension end (AS)
Rubber stopper | Retraction end (AT)
Both ends (A)

Stroke adjustment
range 0 to 5mm

Extension end (BS) Series MXQ6 is not
Adjuster option | Shock absorber | Retraction end (BT) | available with shock

Both ends (B) absorber.

Extension end (CS)
Metal stopper Retraction end (CT)
Both ends (C)

Stroke adjustment
range 0 to 5mm

With buffer (F) Series MXQ6 is not
Functional option | With end lock (R) available with end

Axial piping type (P) lock.

OFor detailed specifications of adjuster options and functional options, refer to option specifications
on pages 3 and 4.

Standard Strokes

der

Order Made Specifications

For order made specifications of il Standard stroke (mim)
series MXQ, refer to page 42. MXQ 6 10, 20, 30, 40, 50
MXQ 8 10, 20, 30, 40, 50, 75
MXQ12 10, 20, 30, 40, 50, 75, 100
MXQ16 10, 20, 30, 40, 50, 75, 100, 125
MXQ20 10, 20, 30, 40, 50, 75, 100, 125, 150
MXQ25 10, 20, 30, 40, 50, 75, 100, 125, 150

O
3



Series MXQ

Theoretical Output

Application of the dual rod system generates double the output of

conventional cylinders.

ouT

(Unit: N)
t%lrltiengi% Rod size Operating | Piston area Operating pressure (MPa)

(mm) (mm) direction (mm2) 02|03 | 04|05 |06 |07
ouT 57 11| 17| 23| 29| 34| 40
S 3 IN 42 8| 13| 17| 21| 25 | 29
ouT 101 20| 30| 40| 51| 61 | 71
8 4 IN 75 15| 23| 30| 38| 45 | 53
ouT 226 45 | 68 | 90 | 113 | 136 | 158
12 6 IN 170 34| 51| 68| 85 |102 | 119
ouT 402 80 | 121 | 161 | 201 | 241 | 281
= 8 IN 302 60 | 91 | 121 | 151 | 181 | 211
20 o ouT 628 126 | 188 | 251 | 314 | 377 | 440
IN 471 94 | 141 | 188 | 236 | 283 | 330
- " ouT 982 196 | 295 | 393 | 491 | 589 | 687
IN 756 151 | 227 | 302 | 378 | 454 | 529

Note) Theoretical output (N) = Pressure (MPa) x Piston area (mm?) 1N = Approx. 0.102kgf, 1MPa = Approx. 10.2kgf/cm?

Weights
(Unit: g)
Standard stroke (mm) Additional weight of adjuster option Additional weight of functional option
Rubber stopper | Shock absorber | Metal stopper . ’ -
Model | 10 | 20 | 30 | 40 | 50 | 75 | 100 | 125 | 150 Exensio RetE;:%tion Extension Retiacion| Exirsion Rert)é%%tion N e L
MXQ 6| 100 | 120 | 140 | 180 | 200 | — — | — | — 6 5 — — 10 5 25 — 13 +0.2S
MXQ 8| 140 | 170 | 210| 250| 315| 385| — | — | — 10 10 30 23 23 10 35 40 26 +0.2S
MXQ12| 335 | 340| 380 | 450 | 490 | 655| 745| — | — 25 23 47 30 35 23 70 100 43 +0.2S
MXQ16| 605 | 610 | 670 | 735| 835|1000 | 1250 | 1400 | — 45 40 75 53 60 40 105 160 55+ 0.2S
MXQ?20 | 1100 | 1100 | 1100 | 1200 | 1400 | 1750 | 2350 | 2650 | 2900| 80 65 170 120 115 65 130 310 166 + 0.5S
MXQ25 | 1750 | 1750 | 1750 | 1950 | 2400 | 2750 | 3450 | 4300 | 4700| 130 110 220 140 180 110 200 560 240 + 0.5S

Option Specifications

Stroke Adjustm ent Range of Adjuster Options (Identical for extension and retraction ends)

Type

Stroke adjustment range

Rubber stopper

0 to 5mm

With shock absorber

Refer to dimensions on page 34.

Metal stopper

0 to 5mm

OOptional wide adjustment range adjusters
are available with rubber stopper and metal

stopper.

How to Order Stroke Adjusters (Accessories)

MXQ —

AS

12 || L

X11

Adjuster option i

L——— e Adjustment range

Note 4) -X11 and -X12 are not available as built-in types.
Note 5) Refer to pages 33 and 35 for dimensions.

AS | Rubber | Extension end Symmetry Nil 5mm Standard
AT | stopper | Retraction end Nil | Standard type -X11| 15mm Optional
BS [Shock | Extension end L | Symmetric type -X12 | 25mm
Ei ob=orber Retram_'on end Applicable cylinder bore size Q
CS | Metal Extension end
| CT | stopper | Retraction end 6 | a6
8 28
12 | 912
16 | 916
20 | 220
25 | 225
3

O

SVC

Note 1) -X12 (adjustment range: 25mm) is not available with series MXQ6.
Note 2) -X11 and -X12 are not available with shock absorber.
Note 3) Series MXQ6 is not available with shock absorber.



Table Accuracy

Air slide Table Series MXQ

Shock Absorber Specifications

@ I_\ Radial internal
) clearance

RB0805 [RB0806 | RB1007 |RB1411 |RB1412
Applicable slide table MXQ8 [MXQ12|MXQ16|MXQ20 |MXQ25
Max. absorbed energy J 0.98 2.94 5.88 14.7 19.6

Shock absorber model

s Stroke absorption mm 5 6 7 11 12
E O ‘ O Max. impact speed mm/s 50 to 500
W Max. operating frequency cycle/min 80 80 70 45 45
[EJ Max. allowable thrust N 245 245 422 814 814
Ambient temperature range °C -10 to 60
. Extended 1.96 1.96 4.22 6.86 6.86
Model MXQ8 |MXQ8|MXQL2|MXQLe[MXQ20/MXQ25 SPrngforee I pressed | 383 | 422 | 6.86 | 1530 | 15.08
B side parallelism to A side Refer to Table 1. Weight g 15 15 o5 65 65
B side traveling parallelism to A side Refer to Graph 1.
C side perpendicularity to A side 0.05mm
M dimension tolerance +0.08mm (+0.1mm)™ End Lock Type Specifications
W dimension tolerance +0.1mm

Radial internal clearance (um)|-4to 0 ‘— 4100 ‘ -6t00 ‘—10 to0 ‘—12 to0 ‘—14 to0
[ +0.1mm for 75mm or longer stroke

B side parallelism to A side

Stroke (mm)
10 20 30 40 50 75 | 100 | 125 | 150
MXQ 6 [0.025|0.03 | 0.035|0.04 |0045| — — — —
MXQ 8 (0.025|0.03 |0.035|0.04 |0.055|0.065| — — —
MXQ12 | 0.03 |0.03 |0.035|0.04 |0.045|0.065|0.075| — —
MXQ16 | 0.035 | 0.035 | 0.04 |0.045|0.05 |0.065|0.08 |0.095| —
MXQ20 | 0.04 |0.04 |0.04 |0.045|0.055|0.07 |0.095 | 0.105 | 0.125
MXQ25 | 0.045 | 0.045 | 0.045 | 0.05 | 0.06 |0.07 |0.09 |0.115 |0.125

(Unit: mm)

Model

B side traveling parallelism to A side unit: mm)

0.06

£ =
| —

5 o004
s 7
<
g |

0.02
°
8 ol
'_

0 50 100 150
Stroke mm

Traveling parallelism:

The amount of deflection on a dial gauge when the
table travels a full stroke with the body secured on
a reference base surface.

N

Model MXQ8 |MXQ12|MXQ16|MXxQ20| MXQ25

Cylinder bore size (mm) 8 12 16 20 25

Operating speed range 50 to 500mm/s

Holding force (N) 25 ‘ 60 ‘ 110 ‘ 160 ‘ 250

Note) Refer to page 51 for end lock handling precautions.

Buffer Mechanism Type Specifications

Model MXQ6 | MXQ8 [MXQ12|MXQ16{MXQ20|MXQ25
Cylinder bore size (mm)| 6 8 12 16 20 25
Operating speed range |50 to 500mm/s (50 to 300mm/s with horizontal operation)
Buffer stroke (mm) 5 10
Buffer stroke Qtrt?gm 3 5 10 13 17 21
load (N) Almaximum) g 8 13 17 25 29

Q Note 1) Refer to page 51 for buffer mechanism handling precautions.

Note 2) The buffer stroke decreases by the amount of stroke adjusted with the
extension end stroke adjuster.

Auto Switches for Buffer Mechanism

Type Part no.
D-F9BYV |2 wire with indicator light

D-FINV | 3 wire with indicator light, Output: NPN
D-F9PV |3 wire with indicator light, Output: PNP

OOrder buffer mechanism auto switches separately using the part numbers listed above.

Specifications Electrical entry direction

Solid state

switch Perpendicular

With end lock

With buffer mechanism




Series MXQ

Table Deflection (Reference Values)

Table displacement due to pitch
moment load
Displacement at the section indicated by the arrow

when a load is applied to this section with the slide
table fully extended.

Table displacement due to yaw
moment load

Displacement at the section indicated by the arrow
when a load is applied to this section with the slide
table fully extended.

Table displacement due to roll
moment load

Displacement at "A" when a load is applied to "F"
with the slide table retracted.

Load N

Load N

Load N
(1N = Approx. 0.102kgf)

u I S v
[ ; b 1
% _% % ]
26 . 96 . 96 Lr = 40mm
] ] ] \
I MXQ6-30| !
0.05 WX0630| | 0.03 Q | 0.015 MXQ6-10 MX‘6-4O
AMXQ6-50] : MXG6-20
£ P i B = D le MX(36-30 — | MXQ6-50
£ 0.04 7 ‘ ' £ MXQ6-50| : | E L/ 4
|5 4 xoszo| | | B o002 WQe20| | |5 000 4 LA
§ 003 / MXQ6-40| | | & e s //
© H © H [
- 4 : = =Y
5 02 “ - ha i \XQs-10| | S 0005 '/’
) ' o 0. M " @0,
2 =MXQe10| |3 A A k- /
=001 7 N / Lol gl
L— : : 7
: —1 :
0 10 20 30 : 0 10 20 30 : 0 40 80 120
Load N : Load N : Load N
(IN = Approx. 0.102kgf) | ! (IN = Approx. 0.102kgf) | ! (IN = Approx. 0.102kgf)
4] 8 %] 8 4] 8 Lr=70mm
\ : : \
APEE| | oo | B8 ko
0.06 i : . )
£ Z bl e MXQ8-20 | | / V /MxQs-40
£ / b E MXQ8-30| : |E 0010 V' /1 MXQ8-50
= | 5002 I MxQ8-40| | |E / / MXQ8-75
£ 004 Pl ET 7 |MxQs-75| |2
g MxQe-40| | | 8 P | P18 / V
a ] MXQ8-20] : | =& 7 MXQ8-10| | |2 / /
3 4 / MXQ8-30| : |8 / MXQ8-50| ! |5 0.005 74
3 002 / 1 MXQ8-50| : | £ o01 7 kS //
& // 1T | {wxqs10 | pd |
=z _— ' :
— H :
0 20 40 60 3 0 20 40 60 3 0 40 80 120
Load N H Load N H Load N
(IN = Approx. 0.102kgf) | (IN = Approx. 0.102kgf)| ! (1N = Approx. 0.102kgf)
912 : 912 : 912 Lr = 90mm
‘ : ‘ I MXQ12-10
0.10 MXQ12-100 : ! | I P MXQ12-20
/ 3 0.04 v MxQu2-1004 ;| B MXQ12-30
_ ) | . wxQuz0ll i |e /| x40
£ 008 wxos0| | | E |/ MXQL250 ]+ | E o016 77— MXQ12-50
g /MX812-75 1| 5003 7 / MXQ12-40T| : |§ // MXQ12-75
£ 0.06 A wxQu230] | | § A MXQ12-75 i |& / MR 00
g f LM b8 7 P18 0012
8 / é ol S A A wxqun| | ///
2 Cle 7 L8
< 004 7 // /// wowa| | |2 p/ | i |2 o008 7
K N =TT | E WA —WXQLA0) 15 4 7
F 0.02 MxQiz10| : | 001 7T 1R o0 Y
Z1 _— ‘ : : '
—— : :
0 20 40 60 80 100 0O 20 40 60 8 100 0 40 80 120 160

(1N = Approx. 0.102kgf)

(1IN = Approx. 0.102kgf)

O
3



Air slide Table Series MXQ

Table displacement due to pitch
moment load

Displacement at the section indicated by the arrow
when a load is applied to this section with the slide
table fully extended.

!

I —

216

Table displacement due to yaw
moment load

Displacement at the section indicated by the arrow
when a load is applied to this section with the slide
table fully extended.

\

]
=
(@]

Table displacement due to roll
moment load

Displacement at "A" when a load is applied to "F"
with the slide table retracted.

i ]

[ ]

lale) [——

Lr

216

Lr=120mm
y L p Y ‘ | | | [ [
i NXQL6-125 MXQL6 100 1ol 75 006 ,moig%s 0.04 TR PR STaie
/ / | /4 MX816:40 MX01630 MXQ16-75
E % \ E 7 £ 003 MXQ16-40 /1, MX(16-100]
E / /1 |mxqtsso L Iwxo1650 : 4 '/ /| MxQie125
£ 008 Ve ANXG16-40 £ 004 ///,/ MXQ16-100 z 4,
g VIl 7] 5 /% ] AMae g '/
g 7/ MXQ16-30. 8 V/ A A g 0.02 // 4
2 2 MXQ16-20 k2]
® 004 / / L P “YQ‘lﬁ-zo 2002 A%/, ] s Y’
o | o - o
8 / AT T s 8 // [ —mxQi610 8 001
e e co
—
0 50 100 150 200 0 50 100 150 200 0 100 200 300 400
Load N Load N Load N
(1N = Approx. 0.102kgf) (1N = Approx. 0.102kgf) (1N = Approx. 0.102kgf)
220 220 220 Lr = 160mm
X I [ I I
o MXQ20-150 MXQ20-125 | 0.08 o VORI GG |
/ /// ngng MXQ20-75 0.06 MX020-30— 15— |MXQ20-75
£ 7 AMXQ20- E 006 MXQ20-30 £ MXO20-40 / / \
E / / MXQ20-50 E O 7 o g MXQ20-100__|
B A | | | Lt | Al s
o / // /// MXQZ?-30 : 1/ A _AmxQao-125 £ 004 % 4 :
8 A A | 8004 / 7 MXQ20-20 8 y //
3 / MXQ20-20 2 ‘A A~ Mxd20-400 3 74
° A / L | = 7 7 3 //
2004 - e W% MXQ20-10 ° /
o L |_—MxQ20-10 S 002 L 5002 v
i g /4 e 0 ‘/// i
— ‘
0 100 | 200 300 0 100 | 200 300 O 100 200 300 400 500 600
Load N Load N oal
(1N = Approx. 0.102kgf) (1IN = Approx. 0.102kgf) (1N = Approx. 0.102kgf)

S
N
ol

ad N
(1IN = Approx. 0.102kgf)

Load N
(1IN = Approx. 0.102kgf)

Lr =200mm
MXQ25-150 ‘ 0.08 == NIXQ25-50
0.12 ! E MXQ25-40 - 0.10 MX 25‘.75 MXQ2>-10 | MXO25-75
A A e hizn_1aeE
c m %g%ggJ VAR £ _1 MXQ25-100 E 0.06 MX825—4D / MXQ25-100—
£ L [ mxqzs-30 £ 008 - Eo v :

77 ) MxQ25-150 4 MX025-125
£ 008 A AMXQ2550 £ / / MX025-30 £ L A A MxQ25150_
20 v ava \ £ 006 A LA NXQ25-50 £ / 4
g / MXQ25-20 g g MXQ)25-125 g A
8 Pl e k4 / e & 004 74 /

g // / MXQ25‘10 200 Ay/ // i g /'
P R : -
g 004 —7 94 2 y/ MXQ25-10 s 4
P 4 / / F 0.02 o lile //’
/
0 100 200 300 400 500 0 100 200 300 400 500 0 200 400 600 800

Load N
(1IN = Approx. 0.102kgf)

O
3



Series MXQ
Model Selection

Model Selection Procedure

Formulae/Data Selection Examples

0 Operating conditions

Enumerate the operating
conditions considering the
mounting position and
work piece configuration.

* Model to be used

* Type of cushion

» Work piece mounting position
* Mounting orientation

» Average speed Va (mm/s)

« Load weight W (kg)

Cylinder: MXQ16-50
Cushion: Rubber stopper
Work piece table mounting

Average speed: Va = 300 [mm/s]
Load weight: W = 0.2 [kg]
Li1=10mm

» Overhang Ln (mm) [SI*RE ::§Z§8$$
Kinetic energy
1 \% 2
E = SLtW (=)
2 1000 _1 420 o
E =7 T (op0 ) =008

energy Ea (J).

Confirm that the kinetic energy
of the load does not exceed
the allowable kinetic energy.

Load factor

Collision speed V = 14&%3 [ICorrection factor
P — (reference value)
Ea = K[E max

Work piece mounting coefficient K:
Max. allowable kinetic energy Emax:
Kinetic energy (E) < Allowable kinetic energy (Ea)

V =1.4x 300 =420
Ea=1x0.11=0.11
Can be used based on E =0.088 <Ea =0.11

Find the kinetic energy E (J)
of the load.
Find the allowable kinetic

Load factor of load weight

Find the allowable load Wa = Kifiwmax Wa=1x1x4=4

weight Wa (kg). Work piece mounting coefficient K: K=1
Allowable load weight coefficient [3: B=1

Find the load factor of the Max. allowable load weight Wmax: Wmax = 4

load weight Ol+. O = wiwa Ol1=1/4=0.25

Load factor of static moment

Find the static moment M M =W x 9.8 (Ln + An)/1000 Examine My. Examine Mr.

(NI). Corrected value of moment center My =1 x 9.8 (10 + 30)/1000 Mr =1 x 9.8 (30 + 10.5)/1000
position distance An: =0.39 =0.39

Find the allowable static Ma = KTY tMmax A3=30 As=10.5

moment Ma (N[h). Work piece mounting coefficient K: May =1x 1x 18=18 Mar = 36
Allowable moment coefficient Y: Mymax = 18 Mrmax = 36
Max. allowable moment Mmax: K=1 K=1

Find the load factor Olz0f the Y=1 Y=1

static moment.

Load factor of dynamic moment

Oz = M/Ma

O2=0.39/18 = 0.022

0'2=0.39/36 = 0.011

Find the dynamic moment Me
(N).

Find the allowable dynamic
moment Mea (N[mh).

Find the load factor Qs of
the dynamic moment.

Sum of the load factors

(Ln + An)
1000
Weight equivalent to impact We = OIWV
d: Bumper coefficient
Rubber stopper without adjuster = 4/100
Shock absorber = 1/100
Metal stopper = 16/100
Corrected value of moment center position

distance An: HEUIEE]

Mea = K[YMmax
Work piece mounting coefficient K:
Allowable moment coefficient Y:
Max. allowable moment Mmax:

Os = Me/Mea

Me = 1/3We x 9.8

Examine Mep.
(30 + 10.5)
Mep =1/3x 16.8x9.8x —————— =22
1000

We =4/100 x 1 x 420 = 16.8
A2=10.5

Meap =1x 0.7 x 18 =12.6
K=1
Y=07
Mpmax = 18

03=2.2/12.6 =0.17

Examine Mey.
Mey = 1/3 x 16.8 x 9.8 x

We = 168

As=245
Meay = 12.6 (same value as Meap)
0's=3.0/12.6 = 0.24

(30 +245) _
1000

3.0

Use is possible if the sum of
the load factors does not
exceed 1.

20n=0H+0z+...... +0ns<1

Can be used based on

20n=

A+ 02+ CX'2+ Os+ ala

=0.25+0.022 + 0.011 + 0.17 + 0.24 = 0.693 < 1

Mounting: Horizontal wall mounting



Air slide Table Series MXQ

Load weight: Overhang: Ln (mm), Corrected value of moment center position [l Work piece mounting
W (kg) distance: An (mm) coefficient: K
o Pitch moment Yaw moment Roll moment Table mounting
w |
O O l Mr( m [
y w o) L
o
% Ls 7& K=1
O O E End plate mounting

&

W l 17} MI’( ] E

g Cl—
Ls ! As
i‘ l K=06
J - Mey

5 N
: -
Q - + \
5 L
) 3 L]

Note 1) Static moment: Moment generated by gravity
Dynamic moment: Moment generated by impact when colliding with stopper

Allowable kinetic energy: Emax (J)

LM Max. allowable

Bl ey load weight: Allowable load weight coefficient: 3
Model X . Adjuster option Wm aX(kg) 1.0
Without adjuster Rubber stopper | Shock absorber| Metal stopper Model |Max. allowable load weight a ™ AN
MXQ 6 0.018 0.018 — 0.009 MXQ 6 06 5 07 AN
MXQ 8 0.027 0.027 0.054 0.013 MXQ 8 1 £
MXQ12 0.055 0.055 0.11 0.027 MXQ12 2 § 05
MXQ16 0.11 0.11 0.22 0.055 MXQ16 4 % 0.4
MXQ20 0.16 0.16 0.32 0.080 MXQ20 6 'g
MXQ25 0.24 0.24 0.48 0.12 MXQ25 9 9 0.3
A Caution The maximum operating speed for metal stopper is 200mm/s. EC;
Qo
Corrected value of moment center position distance: An (mm) g 02
Corrected value of moment center position distance (Refer to Figure 2.) =z
At Ao 50 100 200 300 500 700
Model Stroke (mm) A | A | oAs | A Average speed Va mm/s
10 20 30 40 50 75 100 | 125 | 150
MXQ 6| 145 | 145 | 145 | 185 | 185 | — | — | — | — | 6 135 | 135 6 iniant
XG5 e Tiee o Toae Toe Tae T — T — T — T+ Tie Tt Allowable moment coefficient: Y
MXQ12 | 21 21 21 25 25 34 34 — | — 9 19.5 | 19.5 9 1.0
>
MXQ16 | 27 27 27 27 30 33 425 | 425 | — | 105 | 245 | 245 | 105 = \
MXQ20 | 295 | 29.5 | 295 | 29.5 | 335 | 375 | 535 | 55 56.5 | 14 30 30 14 207 AN
MXQ25| 355 | 35,5 | 355 | 355 | 43 43 50 64 64 16.5 | 37 37 16.5 %
Note) For Az, A4, As and As, there is no difference in the corrected values due to the stroke. § 0.5
Maximum allowable moment: Mmax (N[f) S 04
Pitch/Yaw moment: Mpmax/Mymax Roll moment: Mrmax g 0.3
Model Stroke (mm) Stroke (mm) 2
10 | 20 | 30 | 40 | 50 | 75 |100 [125 150 | 10 | 20 | 30 | 40 | 50 | 75 [100 | 125 | 150 g 0.2
MXQ 6| 14| 14| 14| 28| 28| — | — | — | — 35| 35| 35| 51| 51 —| — | — | — P4 '
MXQ 8| 20| 20| 28| 37| 79| 79| — | — | — 51| 51| 6.0 69| 74| 74| — | — | —
MXQ12 | 47| 47| 47| 72| 72|15 |15 | — | — |11 |11 |11 |13 | 13 | 14 | 14| — | — 50 100 200 300 500 700
MXQ16 |13 |13 |13 |13 |18 |23 |42 | 42| — [31 |31 |31 [31 | 36 | 41 | 41| 41| — Average speed Va mm/s Collision speed V mm/s
MXQ20 |19 |19 |19 |19 |27 |36 84 84 | 84 |47 | AT |47 |47 57 | 66 75| 75| 75 . .
MXQ25 |32 |32 |32 |82 |52 |52 | 78 | 140 | 140 |81 |81 |81 |81 |110 [110 | 130 | 130 | 130 "o e ine average ;ggg{j when EZ:EL‘::{,'QS ynntic mome.
Symbols
Symbol Definition Unit Symbol Definition Unit
An (N =1t06) Corrected value of moment center position distance mm Va Average speed mm/s
E Kinetic energy J W Load weight kg
Emax Allowable kinetic energy J Wa Allowable load weight kg
Ln(n=1t03) Overhang mm We Weight equivalent to impact kg
M (Mp, My, Mr) Static moment (pitch, yaw, roll) N Wmax Max. allowable load weight kg
Ma (Map, May, Mar) Allowable static moment (pitch, yaw, roll) NIh (0 Load factor R
Me (Mep, Mey) Dynamic moment (pitch, yaw) N B Allowable load weight coefficient JE—
Mea (Meap, Meay) Allowable dynamic moment (pitch, yaw) NI Y Allowable moment coefficient R
Mmax (Mpmax, Mymax, Mrmax) | Max. allowable moment (pitch, yaw, roll) N K Work piece mounting coefficient R
Vv Collision speed mm/s

™

SVC



Series MXQ

Dimensions MXQ 6

For detailed dimensions of stroke adjusters,
refer to the stroke adjuster options.
For rubber stopper: Page 33

2-M2.5 x 0.45 thread depth 3 For metal stopper: Page 35

Basic type

Air supply port 2-M5 x 0.8

2 6
3 J | 6 Max. 10 (Retraction end adjuster)
n
™
—H & 0
EERAA )
LD @ i1 0
b i FHI O 0
LN = i o 3 o

Extension end adjuster

19.5 (Extension end adjuster) 23 +8'°3 depth 2.5 N-M3 x 0.5 thread depth 4 55 3
4 Retraction end adjuster
3 [Te}
f ) ol T
2 3 I I Ty
o g ; 'il ] N
\d o] P 5 S
Ol IEAS s :
S o £ ¢ ® ) O s & @ 5
I 5 |- QI T S Lj 9
[P A c| T Y
o/ o T Y
2 2 s h h
4 g F N e o 4-M2.5 x 0.45 thread depth 3.5
N & 5
9 © ﬂ_) o
- 11 (2 xF _ R
3-M3 x 0.5 thread depth 5 «®
5 M
4-M2.5 x 0.45 thread depth 2.5
K 12.5
3|65 )
) ™ 1n Bottom view of MXQ6-30
o ™
20 16 13
©-©
N
S &
z % &o—©0
ZZ ‘@ :
H @ <
(NN-1) xH G
H
105 | 55 105 | 5.5
FA Fﬁ
: 0| 9 gl ~| @ ARE I
A o N STERSY 8 ®
BB B 6 o S I i I
v OV & o | ¥ ‘ [ ¥
T S
— [ ) 8
I = go
2
A 4 & & NN-M4 x 0.7 thread depth 8
B3H9 "5 depth 2.5 HA GA Section AA Section BB
(mm)
Model F N G H NN | GA | HA | J K M Z Y4
MXQ6-10 22 4 6 23 2 13 16 9 17 21.5 42 41.5 48
MXQ6-20 25 4 13 26 2 13 26 9 27 315 52 51.5 58
MXQ6-30 21 6 — — 3 29 20 9 37 41.5 62 | 615 | 68
MXQ6-40 26 6 11 28 3 39 28 16 48 51.5 80 | 795 | 86
MXQ6-50 27 6 21 28 3 49 28 9 65 61.5 90 89.5 96



air slide Table Series MXQ

With buffer (g6) MXQ6-LILIF

3-M3 x 0.5 thread depth 5

G s o <
ol o 8 N7 N7 S
m‘_'coi RAAN7 S AN VAN V)
& oo o
4 28
8
22
@
o

19.2
B
@
[

OOther dimensions are identical to the basic type.

Axial piping type (g6) MXQ6-LILIP

12

-
oo
D
125

[o-¢] |

Air supply port 2-M5 x 0.8

M|=f=' === =

I ) ﬁ\{@
)—alo— ~ 98 o

R K
55

OOther dimensions are identical to the basic type.

O
3

10



Series MXQ

Dimensions MXQ 6 L/Symmetric Type

For detailed dimensions of stroke adjusters,
refer to the stroke adjuster options.
For rubber stopper: Page 33

B as | C ty p e yvd For metal stopper: Page 35
z
N H o
© «
-
L € - €,
™ 10
(=] 3 3]
NE:5 N 4-M2.5 x 0.45 thread depth 2.5
K 12.5
5 M
3-M3 x 0.5 thread depth 5
N <
- -1)xF =
9, = 11 2 =4 4-M2.5 x 0.45 thread depth 3.5
(7]
. g F o
= I3
° So [Te} _
© * 4
E ” - 9
) T =1
A,
s £I © © OT——
& s| ™ 17 o3 L 7\ b RN N
X A\ ST AN/ [ =
w &) &
ps K i
1 | ]
3 T T xET y
v
3 4| ©° Retraction end adjuster 5.5 3
Extension end adjuster
23*3% depth 2.5 N-M3 x 0.5 thread depth 4
19.5 (Extension end adjuster)
) - = o Bottom view of MXQ6L-30
0 ; . Iy 0
Y =S = g ol
“J H [M—T
e P P & > &
. CH
o 3 J G o O oo
21,6 Max. 10 J@
(Retraction end adjuster) ik
2-M2.5 x 0.45 thread depth 3 Air supply port 2-M5 x 0.8 20 16 13
23H9 '3 depth 2.5 HA GA
4 NN-M4 x 0.7 thread depth 8
A B
"7 "7 n
N
H ! o £ Q
: 9 g ==:EE =
666 60 o v S
N2\ 2\ hd 5 o ﬁj@% o~ EJ”’-
' & g g g
}‘A "E 10.5 | 5.5 10.5 | 5.5
H
Section AA Section BB
(NN-1) x H G
(mm)
Model F N G H NN | GA | HA | J K M Z Y4
MXQ6L-10 22 4 6 23 2 13 16 9 17 215 | 42 | 415 48
MXQ6L-20 25 4 13 26 2 13 26 9 27 315 | 52 | 515 58
MXQ6L-30 21 6 — — 3 29 20 9 37 41.5 62 61.5 68
MXQ6L-40 26 6 11 28 3 39 28 16 48 515 | 80 | 795 86
MXQ6L-50 27 6 21 28 3 49 28 9 65 615 | 90 | 895 96
11

a7




air slide Table Series MXQ

With buffer (26) MXQ6L-CICIF

55

=y
‘ﬂ e \mé}m
12

Air supply port 2-M5 x 0.8

o -
[o-o] |
g 22
8
4 28
& Q. 9 @
L) o YY)
° © © ©
3-M3 x 0.5 thread depth 5
O Other dimensions are identical to the basic type.
Axial piping type (6) MXQ6L-LILIP
s 6 &
N7 N7 N7\
CRY TG Y 8
© © ©
— -+
™
©
[—Wﬁj
:?: LO
Hel© ElE

12

OOther dimensions are identical to the basic type.

O
3

12



Series MXQ

Dimensions MXQ 8

For detailed dimensions of stroke adjusters,
refer to the stroke adjuster options.
For rubber stopper: Page 33

B as | C ty p e 2-M3 x 0.5 thread depth 4 For metal stopper: Page 35

Air supply port 2-M5 x 0.8

7
35 J | 8 Max. 11 (Retraction end adjuster)
<
%
4 i3
g |réx. M’m et S i ©
Extension end adjuster N-M3 x 0.5 thread depth 5
+0.03
23 o " depth 3 Retraction end adjuster
22.5 (Extension end adjuster) 6.5 35
4
u ~
i g st S -
= U s Ry L = Lol ¥
Q H— “ - A
e 5 s i e -
k=1 , , =N : b & Nlef.
% g ) Q0O 938 S
QI -8 © -©- - 5. Y 4 @ ~
|- \d -
8| = N 2
%] o
5 G F £ -
& - g
=5 4-M3 x 0.5 thread depth 4
- 0 12 <% —1> xF g :
© F°
™
3-M4 x 0.7 thread depth 6
6 M
KA 14.6
3.8 7 NA-M3 x 0.5 thread depth 3.5
K 14.6
38 | 7 Bottom view of MXQ8-30
@
S ~ 27 23 6
©-o| [©-
N - | S—
y & i
m &) m m VY &)
Z w A4 w w A4 A4
Y4 ! @ @
(NN-1) xH G
H
A " g 125 , 5.7 125 , 5.7
= N To) N n
: g k] gy g ol Es
Qoo ——o o === 3 ===
— B = {%} Z{%} U
= i- a3
A 4 k| o
B| < NN-M4 x 0.7 thread depth 8
83H9 "0 %% depth 3 HA GA g
° i o Section AA Section BB
;O
(o2}
I
™
(mm)
Model F N G H NN | GA | HA | J K KA | NA M Z zZ
MXQ8-10 25 4 7 25 2 13 19 11 17 | 235 — 4 46 45.5 53
MXQ8-20 25 4 14 28 2 14 28 10 28 | 335 — 4 56 55.5 63
MXQ8-30 26 6 — — 3 29 27 12 40 | 435 | — 4 70 | 69.5 77
MXQ8-40 32 6 8 31 3 39 31 14 52 | 535 — 4 84 83.5 91
MXQ8-50 46 6 8 29 4 37 58 13 78 | 63.5 | 825 8 109 [108.5| 116
MXQ8-75 50 6 31 30 4 61 60 12 105 | 88.5 | 1125 8 135 |134.5| 142

13

O
3



Air slide Table Series MXQ

With shock absorber (88) MXQ8-LILIBS,BT,B

Retraction end shock absorber

25 Extension end shock absorber 25
2 Max. 23 2
L]
3 8 /Max. 32
T »
= N [ ]
— 1T BHD
Adjustable stroke range
] (Unit: m?n) A4 hd 7 Om - S
Extension end |Retraction end 1T @ &+ N psoisy
© © ©
20 20 Lj

OOther dimensions are identical to the basic type.

With buffer (88) MXQ8-LILIF

I\ < < <
g < PZSY PZNY 7S
N ~ AN NN N
o0, T —
5 28.5
1
19 225
™
3-M4 x 0.7 thread depth 6 =}
N o6 |
N
N

OOther dimensions are identical to the basic type.

With end lock (28) MXQ8-LICIR £, Airsupply port 2:M5x 0.8
e © ® | b/
o o || €
16
‘e @ @
) 17 AL | =@ 4
Y - Y Y < F
© e @ ‘
:[ |
OOther dimensions are identical to the basic type. ‘ o
Axial piping type (28) MXQ8-LILIP »

e g
Lo '@' 3
1L o o [:] Air supply port 2-M5 x 0.8
e
©
— —_T !
— | @
i i i 4 (‘" 0
PZSY ENZS D | ™ n
AN RN & -
& & & ®
(9]
OOther dimensions are identical to the basic type. 6.5

ZSnC 14



Series MXQ

Dimensions MXQ 8 L/Symmetric Type

For detailed dimensions of stroke adjusters,
refer to the stroke adjuster options.
For rubber stopper: Page 33

Basic type

77 For metal stopper: Page 35
Z
3 | E Q
b =—
o -6 |-
™
@ 38 | |7 <
14.6
K NA-M3 x 0.5 depth 3.5
38 | |7
KA 14.6
6 M
3-M4 x 0.7 thread depth 6
— N “@
o _— <
10 £ 12 (2 1> xF =
= = . S 4-M3 x 0.5 thread depth 4
5 Kl F 8 :
X5 & ]
NI oD 2|9 ® & % 5
~ Q , AN -
& o7 & 4 © @ —O 8 98 g -
Y -© o) © -
: 3 L= ‘ s i) K
=i o
i st 4 ~
© Retraction end adjuster 35
Extension end adjuster 23 *8'03 depth 3 N-M3 x 0.5 thread depth 5
22.5 (Extension end adjuster)
Bottom view of MXQ8L-30
10 e
© 2 . © @
m o m m Y &)
w A4 w w A4 A4
<l 35 J I |8 !
2 ! 27 23 6
Max. 11 (Retraction end adjuster)
2-M3 x 0.5 thread depth 4 ‘Air supply port 2-M5 x 0.8
™
<
=
(3]
kel
g
#3H9 "3 depth 3 HA _ GA o
A 4 B £ NN-M4 x 0.7 thread depth 8
<A i
g\l »
-
B . o oh)
H A
o Bo0—6—0 =E==R& =E==R5
C o @ﬁj ol § o @ J RS
= g g o g
A
R H FE 125 | 5.7 125 5.7
(NN-1) xH G Section AA Section BB
(mm)
Model F N G H NN | GA | HA | J K KA |NA | M Z Y44
MXQ8L-10 25 4 7 25 2 13 19 11 17 | 235 — 4 46 45.5 53
MXQ8L-20 25 4 14 28 2 14 28 10 28 | 33.5 — 4 56 55.5 63
MXQ8L-30 26 6 — — 3 29 27 12 40 | 435 — 4 70 69.5 77
MXQ8L-40 32 6 8 31 3 39 31 14 52 | 535 | — 4 84 83.5 91
MXQ8L-50 46 6 8 29 4 37 58 13 78 | 635 | 825| 8 109 [108.5| 116
MXQ8L-75 50 6 31 30 4 61 60 12 105 | 88.5 |112.5 8 135 1345 | 142
15

O
3



Air slide Table Series MXQ

With shock absorber (88) MXQ8L-LILIBS, BT, B

s ® % Q@
Ebe
| |

Adjustable stroke range

[Te)
(Unit: mm) o 2 Max. 23 2
Extenzign end |Retraction end 25 Extension end shock absorber N
20

Retraction end shock absorber

OOther dimensions are identical to the basic type.

With buffer (g8) MXQ8L-LILIF

N
o
N . .
3-M4 x 0.7 thread depth 6 Y l@*@l:]
10 @ 225 |
5 28.5
&
© ¢ ©
3 3| e OO OF
1 B R —
OOther dimensions are identical to the basic type.
With end lock (88) MXQ8L-LILIR l S
[
¢ ¢ ¢
Q& O 1%
¢ ¢ ¢
B e |
16 @
ool | €
o] 0
Ee © {B} S
4 Air supply port 2-M5 x 0.8
OOther dimensions are identical to the basic type.
. .. 6.5
Axial piping type (28) MXQS8L-LILIP
(8]
¢ ¢ ¢ ®
O —o & —O Sic i
¢ ¢ ¢ L, <
= /&
[ ] | 4
= Y I
]
= © Air supply port 2-M5 x 0.8
oo ] '
Cal 0
ME o % % 3

12
|

OOther dimensions are identical to the basic type.

%g’c 16



Series MXQ

Dimensions MXQ 12

Basic type

2-M4 x 0.7 thread depth 6

Air supply port 2-M5 x 0.8

For detailed dimensions of stroke adjusters,

refer to the stroke adjuster options.

For rubber stopper: Page 33
For metal stopper: Page 35

29

2 9.5
475 J | 10 Max. 13 (Retraction end adjuster)
0 —H R 4
= | s @ % .
o oW PR i ©
cHo? 8@ |o o] I
Extension end adjuster
29.5 (Extension end adjuster) 40,030 N-M4 x 0.7 thread depth 5 8 45
#4H9 o ™ depth 4 Retraction end adjuster
A3 oy e 5
5 — — I
2} i
2 & & __ & &
© N ©
[Te)
s 5 c:HsJk © © © &
'i;f B [A) s é = T S—
- 5| & F i - 9
13 9 <ﬂ —l> <F 8 4-M4 x 0.7 thread depth 6
] 16 2 o
8
?o
3-M5 x 0.8 thread depth 8 £
M <
KA 18.5 NA-M4 x 0.7 thread depth 4
5 8.5
K 18.5 Bottom view of MXQ12-40
@ 5, 85 39 29 9
o
oo |0
N — —— ©| o
’(:l < ™ |
z L
zz @ ©
(NN-1) xH G
H 6 8 6 .8
M }45
o JUY o o FUUY E 0
- HE > C RIS e BE
R
m oD m m Y m o VY T T | k T T |
AR AL A Y Vai — Yai 1
‘@k g ] ]
- e -
Y pid .
A B X
= 5 — 3 NN-M5 x 0.8 thread depth 10
140,030 HA GA é Section AA Section BB
@4H9 ;" depth 4 3
g
?O
(o))
I
- (mm)
Model F N G H NN | GA | HA | J K KA | NA M A Y74
MXQ12- 10 28 4 18 32 2 18 32 12 34 265 | — 4 67 66 76
MXQ12- 20 28 4 18 32 2 18 32 12 34 365| — 4 67 66 76
MXQ12- 30 38 4 20 40 2 20 40 14 42 | 465 | — 4 77 76 86
MXQ12- 40 34 6 — — 3 38 39 15 58 565 | — 4 94 93 | 103
MXQ12- 50 34 6 9 39 3 48 39 13 70 66.5| — 4 104 | 103 113
MXQ12- 75 36 8 23 36 4 59 72 17 110 91.5 |117.5 8 148 | 147 | 157
MXQ12-100 36 10 12 36 5 84 72 17 135 |116.5 |142.5 8 173 172 182
17




Air slide Table Series MXQ

With shock absorber (g12) MXQ12-LIIBS, BT, B

Retraction end shock absorber

Extension end shock absorber

29.5 Max. 18 29.5
10, /Max. 30
i 1 H | | _‘/n e
Adjustable stroke range i f 4
(Unit: mm) i i —J A
Extension end |Retraction end *ﬁk’@@%g@*’@:ﬁ &
18 18 @ @ LE +
0 Other dimensions are identical to the basic type.
With buffer (g12) MXQ12-0000F
P % S
g mI C O ©—&
s Py % %
5 37
13 ™ 29
(=]
3-M5 x 0.8 thread depth 8 l ) l i
0 Other dimensions are identical to the basic type.
With end lock (ﬂlZ) MXQlZ-DDR 5 Air supply port 2-M5 x 0.8
e N
ol © ® | B/s
ool [—€
2
< © S
—+ oD —& - 5
& < < ‘
— = =
0 Other dimensions are identical to the basic type.
Axial piping type (g12) MXQ12-LILIP 23,

OOther dimensions are identical to the basic type.

oo
D

lo o] |

6.3

|
¢%¢
é%¢

©

Air supply port 2-M5 x 0.8

e

20

(=
Jot®
LT

8.5

18



Series MXQ

Dimensions MXQ 12 L/Symmetric Type

For detailed dimensions of stroke adjusters,
refer to the stroke adjuster options.
For rubber stopper: Page 33

29

i zz
B aS | C typ e > For metal stopper: Page 35
Z
o [E o g
N — —
OO OO
g 5 8.5
K 185 NA-M4 x 0.7 thread depth 4
5 8.5
KA 18.5
8 M
3-M5 x 0.8 thread depth 8 z_'
N g
13 16 <? _l> xF g
5 % F ?; 0 4-M4 x 0.7 thread depth 6
= z . X
© _
g [
[}
of  H&) & 5 gJ @ @ @ &
< £ T AS=4 -3
=
&) a S & S 2
s . - ?/ s >
N-M4 x 0.7 thread depth 5 Retraction end adjuster a5
ra4H9+8'°30depth 4 Extension end adjuster
29.5 (Extension end adjuster)
i oo ik
© L. b :L 3
s o Bottom view of MXQ12L-40
P
IR @ @
0 J | |10 i
2-M4 x 0.7 thread depth 6 ~ 4.75 Air supply port 2-M5 x 0.8 E A i N
2 9.5 \NZAAN @{9* O
Max. 13 (Retraction end adjuster) r
<
£
53 39 | 2
#4H9*29% depth 4 HA GA g
5 @
* LA & Z|  NN-M5x0.8 thread depth 10
1 @
: 2| D Bk
- R
@,€}@, D) T T | T T |
@Q@}—e & [ — [ — |
i S IEEE R E
R PevsY AL BRI el s
A 9y B 16 |8 16 |8
(NN-1) x H Section AA Section BB
(mm)
Model F N G H NN | GA | HA | J K KA | NA M Z zZ
MXQ12L- 10 28 4 18 32 2 18 32 12 34 265 — 4 67 66 76
MXQ12L- 20 | 28 4 18 32 2 18 32 12 34 | 365 — 4 67 66 76
MXQ12L- 30 | 38 4 20 40 2 20 40 14 42 | 465| — 4 7 76 86
MXQ12L- 40 | 34 6 = = 3 38 39 15 58 | 565 | — 4 94 93 | 103
MXQ12L- 50 34 6 9 39 3 48 39 13 70 665 — 4 104 | 103 | 113
MXQ12L- 75 36 8 23 36 4 59 72 17 110 915 |1175| 8 148 | 147 | 157
MXQ12L-100 | 36 10 12 36 5 84 72 17 | 135 1165|1425 8 173 | 172 | 182
19

‘N




Air slide Table Series MXQ

With shock absorber (g12) MXQ12L-LIIBS, BT, B

Adjustable stroke range

(Unit: mm)
Extension end |Retraction end
18 18

OOther dimensions are identical to the basic type.

With buffer (g12) MXQ12L-LILIF

OOther dimensions are identical to the basic type.

With end lock (812) MXQ12L-LIIR

OOther dimensions are identical to the basic type.

3-M5 x 0.8 thread depth 8

Max. 18

43
29

14.5
[

Extension end shock absorber

[ L
oo |
™ 29
o
37
@ © ©

Retraction end shock absorber

Axial piping type (g12) MXQ12L-LI 1P

OOther dimensions are identical to the basic type.

[—l
=
< < ©
_ 4@_@*74@—@7——@—— n
© ©
‘ 22 ™
[6 o] 1
5 Air supply port 2-M5 x 0.8
8.5
[ U]
© © IS

4L - o

G & ©-1. EmE

@ @ © LE -

= o

L | [
— ™
l & o l l @ Air supply port 2-M5 x 0.8

Iy o

Lielle ) i

20



Series MXQ
Dimensions MXQ 16

Basic type

2-M5 x 0.8 thread depth 8

Air supply port 2-M5 x 0.8

For detailed dimensions of stroke adjusters,
refer to the stroke adjuster options.

For rubber stopper: Page 33

For metal stopper: Page 35

11
0 5.5 J | 12 Max. 12 (Retraction end adjuster)
1)
2 =]
= \‘<> &l
6] lo-oft 1

Extension end adjuster

36.5 (Extension end adjuster) N-M5 x 0.8 thread depth 6 11 55
#5H9 5% depth 5
5 Retraction end adjuster
T j"‘»‘ fommmmn
g /=
7 10
g o A ¢ s
] 2 Cf@i £y @ 1 398
c
sl © @ > ®
Te) c
< I - —
— x L
w 0 —
10 F < 0
o [=% ™
— N 3 4-M5 x 0.8 thread depth 7
21 (— —1> xF 3
2 3
3-M6 x 1 thread depth 10 ‘3:
I
10 M ©
KA 21 Bottom view of MXQ16-50
55 | 10 NA-M5 x 0.8 thread depth 6.5
K 21 45 35 13
) 55 | 10
o
©-¢ [©-¢
™~ — Howo |
S~
& I ©l o AD-o00) B o o
N A A ¢
Z @ @
Y4
(NN-1) x H G
H 21 21 9
}‘A Fﬁ
o SISH T UU
[Te) [Te}
“ g wigl Q vl g
JR - n [l R =) [Te] [}
| N @ $j} SYRSIEY @ b j} SIS
@ o0—6-o o = 1 ]
1 R
- (<\]r + +
- i x
ﬁ 1 » ~
A 6 }‘E © NN-M6 x 1 thread depth 12
#5H9*3 % depth 5 HA GA 3 _ .
e Section AA Section BB
@
go
=
(2]
I
n
(mm)
Model F N G H NN | GA | HA | J K KA | NA M Y4 7Z
MXQ16- 10 38 4 18 39 2 18 39 12 40 28 — 4 78 77 89
MXQ16- 20 38 4 18 39 2 18 39 12 40 38 — 4 78 77 89
MXQ16- 30 48 4 19 48 2 19 48 12 50 48 — 4 88 87 99
MXQ16- 40 58 4 19 58 2 19 58 12 60 58 = 4 98 97 | 109
MXQ16- 50 40 6 — — 3 48 45 20 68 68 91 8 114 | 113 | 125
MXQ16- 75 46 6 21 52 3 73 52 15 105 93 | 123 8 146 | 145 | 157
MXQ16-100 44 8 36 44 4 80 88 18 145 | 118 166 8 189 | 188 | 200
MXQ16-125 44 10 17 44 5 105 88 23 165 | 143 191 8 214 | 213 | 225
21




Air slide Table Series MXQ

With shock absorber (g16) MXQ16-L1IBS, BT, B

Retraction end shock absorber

Extension end shock absorber

36.5 Max. 20 36.5
- i 12 /Max. 34
i : = - ﬁ
|8 m— 1 ji — N )
Adjustable stroke range &> Py @ — S .
(Unit: mm) PNz PN 7@ @ J’»
Extension end|Retraction end T\ T
22 22 < © < H
OOther dimensions are identical to the basic type.
With buffer (g16) MXQ16-LILIF
o [
© 5 o 5
3|9 & SQ—
1 @) S S S
/@)
6.5 41
15.5
3-M6 x 1 thread depth 10 —* 2 30
[©-9] |
~ | !
&

OOther dimensions are identical to the basic type.

With end lock (216) MXQ16-LILIR

6 Air supply port 2-M5 x 0.8
B o | 1e
loo] | €
25
— == —@1
© < ©
S0 ENIZNY D) 0
YT YT i
© © ©
N N

OOther dimensions are identical to the basic type.

Axial piping type (g16) MXQ16-L1L1P

Air supply port 2-M5 x 0.8

6.3

eS|

A

)
"
OOther dimensions are identical to the basic type.

ZSNC 22




Series MXQ

Dimensions MXQ 16 L/Symmetric Type

For detailed dimensions of stroke adjusters,
refer to the stroke adjuster options.
For rubber stopper: Page 33

B aS | C ty p e Y74 For metal stopper: Page 35
Z
™~ 7:7 ~
3 — 3| ©
©-©| |-y
™ 55 | |10
o
21
K NA-M5 x 0.8 thread depth 6.5
55 | |10
KA 21
10 M 2
3-M6 x 1 thread depth 10 §
N 8
24, 21 <2 ‘1> xF So
65 5 F 2 0 4-M5 x 0.8 thread depth 7
S > 3] o
E<) -
0 © [
3 =
[Te] ©
e © © > <
2 R .
] o F
o @ © ] I g S
('\i . "
— L Vo O
7 ‘ P
B B 6 Retraction end adjuster e
10,030 Extension end adjuster N-M5 x 0.8 thread depth 6 1 55
@5H9 3" depth 5
36.5 (Extension end adjuster) o Bottom view of MXQ16L-50
- oo [6-6l—1
= . R @ @
HO: L
21 S o >—=
D 1} =4 H
T = Ged o o
Ll 55 J 1 |12 Iy
[Te} -4
3 11 )
2-M5 x 0.8 thread depth 8 Air supply port 2-M5 x 0.8 © H
i=3
Max. 12 (Retraction end adjuster) o% 45 35 13
%’o
#5H9 '3 depth 5 HA GA e
A 6 B
. |« l— NN-M6 x 1 thread depth 12
\—cT H t} + -
- < + +
o B
D06 © ==05 ==Ra
I — 0| ol - P 0| 10
! (S glgl ® t 8 g
1 L L
A H B 21 |9 21 |9
(NN-1) xH G Section AA Section BB
(mm)
Model F N G H NN | GA | HA | J K KA | NA M Z zZ
MXQ16L- 10 | 38 4 18 39 2 18 39 12 40 28 — 4 78 77 89
MXQ16L- 20 | 38 4 18 39 2 18 39 12 40 38 — 4 78 77 89
MXQ16L- 30 48 4 19 48 2 19 48 12 50 48 — 4 88 87 99
MXQ16L- 40 | 58 4 19 58 2 19 58 12 60 58 = 4 98 97 | 109
MXQ16L- 50 | 40 6 — — 3 48 45 20 68 68 91 8 114 | 113 | 125
MXQ16L- 75 46 6 21 52 8 73 52 15 105 93 123 8 146 | 145 157
MXQ16L-100 | 44 8 36 44 4 80 88 18 145 | 118 166 8 189 | 188 200
MXQ16L-125 | 44 10 17 44 5 105 88 23 165 | 143 191 8 214 | 213 225

23

O
3




Air SlideTable Series

With shock absorber (g16) MXQ16L-LILIBS, BT, B

@ @ & H
o4 ﬂ\\ O — |
R e ——C
Adjustable stroke range < T — 7 T H 2
(Unit: mm) H
Extension end |Retraction end e 12| \Max. 34 #
22 22 36.5 Max. 20 365
Extension end shock absorber Retraction end shock absorber
OOther dimensions are identical to the basic type.
With buffer (216) MXQ16L-CICIF
™~
G ,
lo-0] |
3-M6 x 1 thread depth 10 15.5 a 30
6.5 41
B
S ® o & %
5 00 NCEE S N
© s s %
i@
~ T
OOther dimensions are identical to the basic type.
With end lock (216) MXQ16L-[ILIR
l J
© © © 0
N7 FIZNY D R
R\ NN 2 A\
© © <
g s : |
s
25
19*% | 5
e i

OOther dimensions are identical to the basic type.

Axial piping type (g16) MXQ16L-[IIP

OOther dimensions are identical to the basic type.

Air supply port 2-M5 x 0.8

52

6.3

21

11

ar—
0)
D

ey
A4

26

Air supply port 2-M5 x 0.8

MXQ




Series MXQ
Dimensions MXQ 20

Basic type

2-M6 x 1 thread depth 7

Air supply port 2-Rc 1/8

For detailed dimensions of stroke adjusters,
refer to the stroke adjuster options.
For rubber stopper: Page 33

For metal stopper: Page 35

25 13
0 65 || J | 13 Max. 14 (Retraction end adjuster)
© l 7
— [~ — L <
o % :
o™ =1 .-k {o}
- HHED -t
T T . ™
- D0 | © @L: =
. . Extension end adjuster N_-m5 x 0.8 thread depth 8
45.5 (Extension end adjuster) : P 15 6
6 Retraction end adjuster
i
. i = Eab 7 S
s ° 0 = FUD @
E hd Te\§/
0 é 5 PN AN ,7‘<@f4; 3| 3[R N
@ m.I ¢ 3 o\ z ¥ cfl &
= 5 gl g Y © 6 9
) (%] ™
|SZ4€ g = N \ .
— L>|J< T = 4
7 ~ F = [to)
© s < 4-M5 x 0.8 thread depth 8
<
18 3 N_Nyg >
P 27 2 X 8
3-M6 x 1 thread depth 13 i
I
13 o
25H9*3%%% depth 5 M
KA 25 Bottom view of MXQ20-50
6.5 12 NA-M6 x 1 thread depth 6
25 48 36 12
") 65 | 12
o H
O oo 6 E‘*
0 || L 6 L
g g ¢ oo o—o
Z 4 ® ©
Y4
(NN-1) x H G
H
26 10.5 26 10.5
}‘A Fﬁ
] —Uuy —Uuy
ARRran\ AT nVanl AREP
H S N Bl N S 8|
hod o & : = !
AR i
2 71N 1N
o IHL_] N %
1.4 T~
A 2lLB
"* HA GA %_ }‘* NN-M6 x 1 thread depth 12
25H9 *3%depth 5 ‘ == ) .
3 Section AA Section BB
9’0
[o2}
I
[Tel
(mm)
Model F N G H NN | GA | HA | J K KA | NA M Z Y4
MXQ20- 10 45 4 22 46 2 18 50 16 46 31 — 4 94 92.5| 108
MXQ20- 20 40 4 22 46 2 18 50 16 46 41 = 4 94 92.5| 108
MXQ20- 30 48 4 22 46 2 18 50 16 46 51 — 4 94 | 925| 108
MXQ20- 40 58 4 22 56 2 22 56 16 56 61 = 4 104 |102.5| 118
MXQ20- 50 42 6 — — 3 48 48 18 72 71 — 4 122 |120.5| 136
MXQ20- 75 55 6 17 56 8 73 56 23 100 96 | 126 8 155 |153.5| 169
MXQ20-100 50 8 18 56 4 74 | 112 25 155 | 121 | 183 8 212 |210.5| 226
MXQ20-125 55 8 37 59 4 96 | 118 18 190 | 146 | 211 8 240 [238.5| 254
MXQ20-150 62 8 56 62 4 118 | 124 21 215 | 171 | 239 8 268 |266.5| 282
V-
25 ZSVC




Air slide Table Series MXQ

With shock absorber (20) MXQ20-LILIBS, BT, B

Retraction end shock absorber

Extension end shock absorber

46.5

Max. 35
13 Max. 54
= -
— 4
w = A
L —h ‘
Adjustable stroke range Y Y o D ‘
(Unit: mm) : § : § : § ;B
Extension end|Retraction end i _
35 35 s hid i
OOther dimensions are identical to the basic type.
With buffer (820) MXQ20-LILIF
e
4 4 4
R Ca—cl
-©- & ©
44.5
L] 30.5
S >
LQ ]@ @[ ]
g
OOther dimensions are identical to the basic type.
With end lock (20) MXQ20-CI00R Airsupply port 2-Re 1/3
y é :ﬂ
el © o | /s
oo | €
33
e
@ © @
Xe}
O—&—0© ©
@ © @
=5 T T =
| ™
OOther dimensions are identical to the basic type.
. . . 20
Axial piping type (g20) MXQ20-LILIP ]
e 7= =
1ol 8
]® @l l Air supply port 2-Rc 1/8
5
. i 3
I
& & % ° x
©—¢+©—@1 8 ¢ S
© @ & T
OOther dimensions are identical to the basic type. 14

26



Series MXQ

Dimensions MXQ 20 L/Symmetric Type

For detailed dimensions of stroke adjusters,
refer to the stroke adjuster options.

Y4
B aS | C t e For rubber stopper: Page 33
yp Z For metal stopper: Page 35
2 0| €
< = = ©
© OO On
0 6.5 | |12
o
K 25
NA-M6 x 1 thread depth 6
65 | |12
KA 25
13 M
3-M6 x 1 thread depth 13 0
G
18, = 27 2 X g
7 2 E g° 4-M5 x 0.8 thread depth 8
=] > =2} Ol o
= T -
. i L -
5 h
o I T
u'\')I &% {@ 5 & © © - B
8| = & 2 5-0) =O—=— )1} 88| ¢
7%< & g Pi AP s R
2N w & -
% 5 ® & i —
< W Y
- L= o
) B
Lodd g T A U N .
\ Retraction end adjuster
g5H9+g'°3° depth 5 Extension end adjuster N-M5 x 0.8 thread depth 8 15 |6
45.5 (Extension end adjuster) Bottom view of MXQ20L-50
S - ! I @
[ - beed
0 _ Fox R g
Qr | ] /\J T S‘I @{; @ @ . 5
ol 82 J | |13 E‘W
2-M6 x 1 thread depth 7,/ 2.5, || 13 0
Air supply port 2-Rc 1/8 § 48 36 12
§_ Max. 14 (Retraction end adjuster)
oo
2
25H9 +8'030depth 5 HA GA ©
A 6 ‘ B NN-M6 x 1 thread depth 12
& -2
. - \) —
o THE . an I
] NI \ /b
f/,h r\$ D—o & — I T I
N T — _ N =
min - AN BIE - N 0| o
_ el [T ) €|sle [ €F
g LNV N A
A H B 26 10.5 26 105
(NN-1) x H G Section AA Section BB
(mm)
Model F N G H NN | GA | HA | J K KA | NA M Z Y44
MXQ20L- 10 | 45 4 22 46 2 18 50 16 46 31 — 4 94 92.5| 108
MXQ20L- 20 | 40 4 22 46 2 18 50 16 46 41 — 4 94 92.5| 108
MXQ20L- 30 | 48 4 22 46 2 18 50 16 46 51 — 4 94 92.5| 108
MXQ20L- 40 | 58 4 22 56 2 22 56 16 56 61 | — 4 104 |102.5| 118
MXQ20L- 50 | 42 6 — — 3 48 48 18 72 71 — 4 122 |120.5| 136
MXQ20L- 75| 55 6 17 56 & 73 56 23 100 96 | 126 8 155 |[153.5| 169
MXQ20L-100 | 50 8 18 56 4 74 | 112 25 155 | 121 | 183 8 212 | 210.5| 226
MXQ20L-125 | 55 8 37 59 4 96 | 118 18 190 | 146 | 211 8 240 |238.5| 254
MXQ20L-150 | 62 8 56 62 4 118 | 124 21 215 | 171 | 239 8 268 | 266.5| 282
27




Air slide Table Series MXQ

With shock absorber (20) MXQ20L-LILIBS, BT, B

Adjustable stroke range

<} |

(Unit: mm)
Extension end | Retraction end
35 35 46.5

OOther dimensions are identical to the basic type.

With buffer (820) MXQ20L-LILIF

3-M6 x 1 thread depth 13

60

35
175

@
<
©

OOther dimensions are identical to the basic type.

With end lock (820) MXQ20L-LILIR

OOther dimensions are identical to the basic type.

Axial piping type (820) MXQ20L-[ILIP

OOther dimensions are identical to the basic type.

¢ ¢ ¢
7N [z
&—>6—O1p @
% = 7
L 1 i §1
] T o %@'
Il ! =
H 13| Max. 54 Q
0.5 |Max.35 05,],
Retraction end shock absorber 46.5
Extension end shock absorber
o |
o
g -
ool |
0 30.5 |
o
45
@ &
: ZN
@ O—&r
% *
=
x —
r | [ 11_?;[ Uy 1
% 4 ¢ "
: @, 7N @) © I
=
33
t ]@ @[ | W,
|
kS j N
IS (3]
o] © o | I
8 Air supply port 2-Rc 1/8
14
[
. N N
* ® :
=
A A &

11.5

Air supply port 2-Rc 1/8

28



Series MXQ
Dimensions MXQ 25

Basic type

2-M8 x 1.25 thread depth 9

Air supply port 2-Rc 1/8

For detailed dimensions of stroke adjusters,
refer to the stroke adjuster options.

For rubber stopper: Page 33

For metal stopper: Page 35

4 16
© 8 J | 15 Max. 17 (Retraction end adjuster)
i3 ~
© \)'\ o "I
Ty A\

o-of

Extension end adjuster

i i +0.030 Retraction end adjuster
54.5 (Extension end adjuster) @6H9 """ depth 6 N-M6 x 1 thread depth 11 J 20 6.5
) 7 .,
) / -
o g : iy
@ b S
A7 I VA I S —
©
3 D = ) HES) 4@7 ol «| 3
JIEY 9 s cQ ; 8|8
c
N2 NV - s ® ® ® o 3
2%l |
~ — Ll>j = T —
65 o © 10
2 F N = -l @ 4-M6 x 1 thread depth 10
215 S (N1)xr g
30 2 8
3-M8 x 1.25 thread depth 15 by
15 M 5 NA-M8 x 1.25 thread depth 8
KA 31
8 15 Bottom view of MXQ25-75
K 81 65 50 22
n 8 15
o
60 oo™ B
s — = [T9)
g I 0 A A A o
e N ©
5 |
77 @ @
(NN-1) x H G
H 32 115 32 115
-~ .8
ARy
© ©
1 5] —| N 5| —| N
o | §|8|s @ S|sls
FnY m o m FanY o I TT I T
g g @ &  — —— ¥
- 3 S @
0
-
{\
Pid ~. L
BN 7 -2 >y /NN-M8 x 1.25 thread depth 16
HA GA £
+0.030
26H9 " depth 6 g Section AA Section BB
3
?o
[=2]
I
© (mm)
Model F N G H NN | GA | HA | J K KA | NA M Z 7z
MXQ25- 10 55 4 23 55 2 23 55 16 56 35 — 4 107 [105.5| 123
MXQ25- 20 46 4 23 55 2 23 55 16 56 45 = 4 107 |105.5| 123
MXQ25- 30 | 55 4 23 | 55 2 23| 55 | 16 56 | 55 | — | 4 | 107 [1055]| 123
MXQ25- 40 65 4 23 65 2 23 65 16 66 65 — 4 117 |[1155| 133
MXQ25- 50 75 4 32 80 2 32 80 16 90 75 — 4 141 |[139.5| 157
MXQ25- 75 60 6 — — 3 72 65 31 100 | 100 — 4 166 | 164.5| 182
MXQ25-100 48 8 44 44 4 88 88 20 150 | 125 170 8 205 |203.5| 221
MXQ25-125 60 8 31 66 4 97 | 132 18 205 | 150 | 223 8 258 | 256.5| 274
MXQ25-150 65 8 56 66 4 122 | 132 18 230 | 175 248 8 283 | 281.5| 299

29

O



Air slide Table Series MXQ

With shock absorber (g25) MXQ25-LILIBS, BT, B

54.5

e

Adjustable stroke range
(Unit: mm)

af |
@;%

Retraction end shock absorber

Extension end |Retraction end
35 35

)

D0 )

OOther dimensions are identical to the basic type.

With buffer (g25) MXQ25-LILIF

@

=

3-M8 x 1.25 thread depth 15

74
44

O

215

OOther dimensions are identical to the basic type.

With end lock (825) MXQ25-L1IR

OOther dimensions are identical to the basic type.

Axial piping type (825) MXQ25-LILIP

OOther dimensions are identical to the basic type.

Max. 29 Extension end shock absorber 545
15 / Max. 52
|
=
@ © © —
e ———
@ © ©
@ @ @
@ © o3
50 ‘
. 35
oo |
0
g
8 Air supply port 2-Rc 1/8
— Q L
g © © L/ g
oo |
@’@ J
37
@ @ ©
PN ) ) «
¥ N ¥ =3
@ & @
— T — STg]
| ™ 1
2
—_0 -
Tk O »
T Air supply port 2-Rc 1/8
ool |
b
= s =
= @
@ © ©
& @ & ,@) @ _H 2 . =]
@ 1S ] e
= Ny pu'
17

30



Series MXQ

Dimensions MXQ 25 L/Symmetric Type

77 For detailed dimensions of stroke adjusters,
7 refer to the stroke adjuster options.
. For rubber stopper: Page 33
B asic ty p e For metal stopper: Page 35
[Te) IR n
o [Te)
< T— —
09| |0-an—
10 FREEE
K 31 NA-M8 x 1.25 thread depth 8
8 15
KA 31
15 M
3-M8 x 1.25 thread depth 15 b=
N =
(3 s g
215 30 2 g 4-M6 x 1 thread depth 10
eg F 2 9| o
o
rz g I | ——
g
2 2|® (o} ® (o} ©
a )
S A ™ <
¥ RO— =" — @1+ 82
2 -
?ﬁr o ° - % —— S
© 4.8 &
— Y e \ . L N
o - 7 S
26H9 "0 depth 6 Retraction end adjuster 20 6.5
/ Extension end adjuster N-M6 x 1 thread depth 11
54.5 (Extensi d adjust .
(Extension end adjuster) e ] Bottom view of MXQ25L-75
T e ooy
= = & ®
o) REl 1
S AN ., ,\I
© I @ o @ @ o A
<&
J I |15
2-M8 x 1.25 thread depth 9/~ 4 || 16 Air supply port 2-Rc 1/8
Max. 17 (Retraction end adjuster)
65 50 22
26H9"0 % depth 6 HA GA
}_A N 7 |<£ NN-M8 x 1.25 thread depth 16
7o) \‘\J W
a — [To)
™ @ b
D000 o] — ===
IN7ERCANY) 5
| © Q Sl S IR
: R e
Q.
o% a4 a4
LA H B 8 11.5 32 115
9@
(NN-1) xH G % Section AA Section BB
(mm)
Model F N G H NN | GA | HA | J K KA | NA M Z Y4
MXQ25L- 10 | 55 4 23 55 2 23 55 16 56 35 — 4 107 |105.5] 123
MXQ25L- 20 | 46 4 23 55 2 23 55 16 56 45 — 4 107 |105.5| 123
MXQ25L- 30 55 4 23 55 2 23 55 16 56 55 — 4 107 |105.5| 123
MXQ25L- 40 65 4 23 65 2 23 65 16 66 65 — 4 117 |115.5| 133
MXQ25L- 50 75 4 32 80 2 32 80 16 90 75 — 4 141 |139.5| 157
MXQ25L- 75 60 6 — — 3 72 65 31 100 | 100 — 4 166 |164.5| 182
MXQ25L-100 | 48 8 44 44 4 88 88 20 150 | 125 170 8 205 |203.5| 221
MXQ25L-125 60 8 31 66 4 97 | 132 18 205 | 150 | 223 8 258 [256.5| 274
MXQ25L-150 65 8 56 66 4 122 | 132 18 230 | 175 248 8 283 |281.5| 299
31




Air slide Table Series MXQ

With shock absorber (g25) MXQ25L-LILIBS, BT, B

@@ @ ° ° ° i
6o {~0—6—06tp |
{ @ @ @ —] ‘
Adjustable stroke range g}; i ! i H ) P
(Unit: mm) m_:— It —H { I
Extension end |Retraction end g ‘ ._i: 15| Max. 52
=2 s 245 Max. 29 Retraction end shock absorber L

Extension end shock absorber

OOther dimensions are identical to the basic type.

With buffer (#25) MXQ25L-CICIF

0 ———
o
<
ool
ot 35
3-M8 x 1.25 thread depth 15 215 =} "]
6.5 50

74

L.« BRI
& & &

&)
- T
==

[JOther dimensions are identical to the basic type.

With end lock (25) MXQ25L-LILIR 1

[ e ——
— U]
@ @ @
175 A 7 b
©Q N &
@ @ @
37
[©-9] |
i3 o
- | Q @ <
FoS
8 Air supply port 2-Rc 1/8
OOther dimensions are identical to the basic type.
Axial piping type (225) MXQ25L-1CIP Ele
& & @
©) Oo—O+f o
@ @ @
le,el i g Air supply port 2-Rc 1/8
_@ i
{2l Q| »

OOther dimensions are identical to the basic type.

20
L

ZSNC 2



Series MXQ

Adjuster Dimensions

Rubber Stopper (AS, AT)

Extension end

Body mounting section Applicable | wodel ad}cfg?rifq%nt Body mounting section Table mounting section
D A P size rangemm | A | B|C|D|E|F |G| M P (H|J |K | o
r—> M /> MXQ 6 MXQ-AS 6 > 6 19 8 |7 | 165 7| 25| M5x0.8 | M25x6 |125| 6 83 |M25x8
= @ MXQ-AS 6-X11| 15 2.5
- :\ @ o MXQ-AS 8 5 | 195 |
W L M MXQ 8 |MXQ-AS 8-X11 15 7 22 9|75 1295 | 8|3 M6x1 | M3x8 (146 | 7 9.8 | M3x 10
g — MXQ-AS 8-X12 25 39.5
G E MXQ-AS12 5 | 235 |
c MXQ12 | MXQ-AS12-X11 15 9529 |14 (11 | 335 | 12 | 4 M8x1 | M4x12 (185 (105 |12.7 | M4 x 12
DR MXQ-AS12-X12 25 435
MXQ-AS16 5 | 245 |
Table mounting section MXQ16 |MXQ-AS16-X1l| 15 11|36 |17 [135|345] 14 | 5 | M10x1| M5x16 |21 |13 |15 |M5x16
Q MXQ-AS16-X12 25 445
MXQ-AS20 5 ﬂ
’@@ "’I = MXQ20 |MXQ-AS20-X11| 15 13 | 45 |20 (16 [375| 17 | 6 |MI2x125| M6x16 |25 |16 |18 | M6x16
H K MXQ-AS20-X12 25 475
MXQ-AS25 5 | 325 |
MXQ25 | MXQ-AS25-X11| 15 16 |54 |22 |18 |425| 19| 6 |M14x15| M8x18 |31 |17 |20 |M8x18
MXQ-AS25-X12 25 52.5
Dl) Dimensions of hexagon socket head cap screws.
EQ) Also applicable to symmetric type.
Refer to page 3 for ordering instructions.
Dimensions are identical to standard type.
Retraction end
Applicable | poqel adjslg?rlfwint A | B |C|D]|E F | G | H J K
sz range mm
MXQ 6 MXQ-AT 6 > 17.5 19 10.5 8 16.5 6 7 25 M5x0.8 | M25x6
MXQ-AT 6-X11 15 26.5
MXQ-AT 8 5 19.5
D E MXQ 8 | MXQ-AT 8-X11 15 21 22 125 | 10 29,5 8 8 3 M6x1 | M3x8
H MXQ-AT 8-X12| 25 39.5
Ly MXQ-AT12 5 23.5
3 MXQ12 | MXQ-AT12-X11 15 28 29 16 16 | 335 | 10 12 4 M8x1 | M4x10
oM § A T MXQ-AT12-X12 25 43.5
®) MXQ-AT16 5 24.5
MXQ16 | MXQ-AT16-X11 15 335 355 | 20 17 34.5 12 14 5 M10x1 | M5x12
J A MXQ-AT16-X12 25 44.5
K MXQ-AT20 5 275
MXQ20 | MXQ-AT20-X11 15 41 445 | 25 23 375 13 17 6 M12x125| M5x14
MXQ-AT20-X12 25 47.5
MXQ-AT25 & 32.5
MXQ25 | MXQ-AT25-X11| 15 49 535 | 31 28 | 425 | 15 19 6 M14x15| M6x18
MXQ-AT25-X12 25 52.5

33

O
3

1) Dimensions of hexagon socket head cap screws.

Eb) Also applicable to symmetric type.
Refer to page 3 for ordering instructions.

Dimensions are identical to standard type.



Air slide Table Series MXQ

With Shock Absorber (BS, BT)

Extension end

Body mounting section

./

Table mounting section

D Wall %
- Y o[- [ b
= H K
E 1 m
C IR i M=
N J _Ll=.u_lL
e E El e
L
C
MXQ-BS20 MXQ-BS 8
MXQ-BS25 MXQ-BS12
MXQ-BS16
Applicable — a djslgtt)r&('n%nt Body mounting section Table mounting section
size ranemm | A | B | C | D|E |E1|F | G M ph) H | J K | L QM
MXQ 8 | MXQ-BS 8 20 7 245 | 14 | 125 | 408 12 14 M8 x 1 M3x12 |16.6 | 8 12 | 146 | M3x12
MXQ12 | MXQ-BS12 18 95 | 29 14 |11 40.8 12 1.4 M8 x 1 M4 x12 | 205 | 11 13 | 185 | M4x12
MXQ16 | MXQ-BS16 22 11 36 17 13.5 | 46.7 14 1.4 M10x 1 M5x 16 |23 135 | 16 |21 M5 x 16
MXQ20 | MXQ-BS20 35 13 46 22 | 175|673 | 11 19 |12 M14 x 1.5 M6 x 18 | 27 17 22 | 25 M6 x 20
MXQ25 | MXQ-BS25 35 16 54 22 |18 67.3 | 12 19 |12 M14x 1.5 M8 x 18 | 33 19 22 |31 M8 x 20
[h) Dimensions of hexagon socket head cap screws.
(D) Also applicable to symmetric type.
Refer to page 3 for ordering instructions.
Dimensions are identical to standard type.
Retraction end
D E El
H H F
+ rq\ 10 m 1 -
DAL i =
T m T </ 7A3
o J
=
A
M
MXQ-BT20 MXQ-BT 8
MXQ-BT25 MXQ-BT12
MXQ-BT16
) Stroke
Applicable | nodel | adjustment | A | B | C | D | E |EL| F | G | H J KO
SIZ8 range mm
MXQ 8 | MXQ-BT 8 20 23 245 [ 125| 14 | 40.8 8 12 1.4 | M8x1 M3 x 8
MXQ12 | MXQ-BT12 18 28 29 16 16 40.8 10 12 1.4 | M8x1 | M4x10
MXQ16 | MXQ-BT16 22 335 | 355 |20 17 46.7 12 14 1.4 | M1IOx1 | M5x12
MXQ20 | MXQ-BT20 35 43 46 26 25 | 673 11 13 19 |12 M14x15 | M5x 14
MXQ25 | MXQ-BT25 35 49 535 | 31 28 67.3 | 12 15 19 |12 M14x15 | M6x 18

Dl) Dimensions of hexagon socket head cap screws.

() Also applicable to symmetric type.
Refer to page 3 for ordering instructions.
Dimensions are identical to standard type.

N

34



Series MXQ

Adjuster Dimensions

Metal Stopper (CS, CT)

Extension end

O
3

Body mounting section Applicable Model adjsutgt)rl:%m Body mounting section Table mounting section
D A_P size ragemm | A|B|C|D|E|F |G| M P |H|J|K|L| QW
r—> M @/» MXQ 6 miQ-CS 6 > 6 19 817 155 7125|M5x08| M25x6(145| 7 8.3[125 | M25x8
Q-CS 6-X11 15 25.5
gii i @ o MXQ-CS 8 5 118 |
2\ I MXQ 8 |MXQ-CS 8-X11 15 7 22 9175 128 | 8|3 M6x1 | M3x8 |16.6| 8 9.8 (14.6 | M3x 10
I MXQ-CS 8-X12 25 38
G E MXQ-CS12 5 122 |
<L> MXQ12 | MxQ-CS12-X11 15 95129 |14 |11 132 | 12 | 4 M8x1 | M4x12 [205(11 |13 |185| M4x12
MXQ-CS12-X12 25 42
Table mounting section MXQ-C516 5 23|
MXQ16 |MXQ-CS16-X11 15 11 | 36 |17 |135(33 |14 |5 |M10x1|M5x16 (23 |135(16 (21 | M5x16
8 MXQ-CS16-X12 25 43
@@ ,,1 ‘3 MXQ-CS20 5 27|
MXQ20 |MXQ-CS20-X11 15 13 |45 20|16 |37 |17 |6 M12x125| M6x 16 |27 |17 |22 |25 M6 x 20
H K MXQ-CS20-X12 25 47
MXQ-CS25 5 30|
MXQ25 | MxQ-CS25-X11 15 16 |54 |22 (18 |40 |19 |6 M14x 15| M8x18 |33 [19 |22 (31 M8 x 20
| s MXQ-CS25-X12 25 50
L Ell) Dimensions of hexagon socket head cap screws.
[b) Also applicable to symmetric type.
Refer to page 3 for ordering instructions.
Dimensions are identical to standard type.
Retraction end
) Stroke
Applicable | nogel | adjustment | A B cC | D E F | G H J KL
S range mm
MXQ 6 MXQCT 6 > 175 | 19 10.5 8 155 6 7 25 | M5x0.8 | M2.5x6
MXQ-CT 6-X11 15 25.5
MXQ-CT 8 5 18
MXQ 8 | MXQ-CT 8-X11 15 21 22 125 | 10 28 8 8 3 M6 x 1 M3 x8
MXQ-CT 8-X12 25 38
MXQ-CT12 5 22
MXQ12 | MXQ-CT12-X11 15 28 29 16 16 32 10 12 4 M8x1 | M4x10
m N A MXQ-CT12-X12 25 42
o MXQ-CT16 5 23
MXQ16 | MXQ-CT16-X11 15 335 | 355 | 20 17 33 12 14 5 M10x1 | M5x12
M A MXQ-CT16-X12 25 43
MXQ-CT20 5 27
MXQ20 | MXQ-CT20-X11 15 41 445 | 25 23 37 13 17 6 M12x .25 | M5x 14
MXQ-CT20-X12 25 47
MXQ-CT25 5 30
MXQ25 | MXQ-CT25-X11 15 49 535 | 31 28 | 40 15 | 19 6 M14x15 | M6x18
MXQ-CT25-X12 25 50
[h) Dimensions of hexagon socket head cap screws.
[2) Also applicable to symmetric type.
Refer to page 3 for ordering instructions.
Dimensions are identical to standard type.
35



Construction

Air slide Table Series MXQ

NN

@\” =

B

ot
S

M=

X/XKXXXXXXXXLi

4

i

AN

40434

| 11
A Z[Nnw (30 \L1/ | 3
o 5 @ i A
i z - /. & ,@7, _ _]
@ @ /@
\ 7 vV V
With buffer With end lock Axial piping type
Parts list With end lock/Parts list
No. Description Material Note No. Description Material Note
1 | Body Aluminum alloy Hard anodized 26 Locking body Aluminum alloy Hard anodized
2 | Table Stainless steel Heat treated 27 Table support Carbon steel Anticorrosive treatment
3 | End plate Aluminum alloy Hard anodized 28 Rod cover Aluminum alloy
4 | Guide block Stainless steel Heat treated 29 Piston rod Stainless steel
5 | Cover Synthetic resin 30 Bushing Aluminum alloy Chromated
6 | Return guide Synthetic resin 31 Blanking plug Brass Electroless nickel plated
7 | Scraper Stainless steel, NBR 32 Return spring Stainless steel
8 | Rod Stainless steel 33 Piston seal NBR
9 | Piston assembly With magnet on one side 34 Rod seal NBR
10 | Rod cover Aluminum alloy Anodized 35 O-ring NBR
11 | Seal support Brass Electroless nickel plated 36 O-ring NBR
12 | Head cap Synthetic resin . L .
13 | Floating bushing Stainless steel Axial piping type/Parts list
14 | Rod bumper Polyurethane No. Description Material Note
15 | End bumper Polyurethane 37 | Axial piping plate Aluminum alloy Hard anodized
16 | Steel ball High carbon chromium bearing steel 38 | Pipe Aluminum alloy Hard anodized
17 | Parallel pin Stainless steel 39 | Bushing Aluminum alloy Chromated
18 | Piston seal NBR 40 Stud Brass Electroless nickel plated
19 | Rod seal NBR 41 O-ring NBR
20 | O-ring NBR 42 O-ring NBR
With buffer/Parts list 43 | Gasket NBR, Stainless steel
— 44 O-ring NBR
No. Description Material Note
21 End plate Aluminum alloy Hard anodized OSeal kits consist of items in the table below, and can be ordered using the kit
22 Spring collar Stainless steel Q number for each cylinder bore size.
23 Head cap Stainless steel
24 Spring Stainless steel
25 Magnet Rare earth
Replacement parts: Seal kits Replacement parts: End lock type seal kits Replacement parts: Axial piping type seal kits
Cy"nd?ﬁ]%re size Kit no. Content CyImdc(ar;tI)T%re S Kit no. Content Cylmde(ar:qlr)nc;re SZE Kit no. Content
6 MXQ 6-PS 8 MXQ 8R-PS | Apove numbers 6 MXQ 6P-PS | Above numbers
8 MXQ 8PS | Apove numbers 12 MXQ12R-PS 18 to 20, 8 MXQ 8P-PS |181t0 20, and 41 to 44
12 MXQ12-PS 1810 20 16 MXQ16R-PS and 12 MXQ12P-PS (1 set)
16 MXQ16-PS (1 set) 20 MXQ20R-PS 331036 16 MXQ16P-PS | Above numbers
20 MXQ20-PS 25 MXQ25R-PS (1 set) 20 MXQ20P-PS (1810 20, and 41 to 43
25 MXQ25-PS 25 MXQ25P-PS (1 set)

N

SVC

36



Reed Switches/Direct Mount Type
D-A90(V), D-A93(V), D-A96(V)

=

Auto Switch Specifications

PLC

Auto switch part no. D-A90 | D-A90V | D-A93 | D-A93V D-A96 | D-A96V
Electrical entry direction |  In-line Perpendicular In-line | Perpendicular In-line | Perpendicular
Wiring type 2 wire 3 wire
Applicable load IC circuit, Relay, Relay, PLC IC circuit

Load 24VHS or less/50mA
Load / current range AG 24VDC/5 to 40mA
voltage/ and 48V p¢or less/40mA 4 to 8VDC/20mA
Max. load AC 100VAC/5 to 20mA
current 100V p¢ or less/20mA
Contact protection circuit None
Internal voltage drop 0 2.6V or less 0.8V or less
Auto Switch Internal Circuits Indicator light None Red LED lights when ON
Lead wire colors inside [ ] are those prior to o Lead wire ........Oil resistant heavy duty vinyl cord, 2.7, 0.5m * Operating time ................... 12ms
conformity with IEC standards. D-A90(V), D-A93(V)  0.18mm2x 2 cores (Brown, Blue [Red, Black]) ® Ambient temperature -10 to 60°C
D-A96(V) 0.15mm?2 x 3 cores (Brown, Black, Blue ® Impact resistance . 300m/s? {30.6G}
D'AQO(V) [Red, White, Black])  Leakage current
R, [  Insulation resistance ..... 50MQ or more at 500VDC ® Enclosure ........ IEC529 standard IP67 (JISCO920)
P  Contact & ooyt (3 (between lead wire and case) Watertight type
L2 ! | protection ! Brown_[Red] e Withstand voltage .......... 1000VAC for 1min. ® For 3 meter lead wire, L is added to end of
: E : 1 box : - (between lead wire and case) Ea’t nuln;té)erAgOL
il CoPLL Auto Switch Weight e
e | cD-P12 :'°0UT[(i) , uto Switc eights
"""""""""" Blue [Black
C)}
Type D-A90 D-A90V D-A93 D-A93V D-A96 D-A96V
 Contact ;_OOUT ) Lead wire length 0.5m 8 8 8 8 8 8
box " Brown[Red) Lead wire length 3m 41 4 4 a1 a1 a2
' CD-P11 ~
CD-P12 o0UT () Contact Protection Boxes
----------- Blue [Black] " "
Type D-A9 switches do not have intemal con-  Contact protection box internal circuits
_______________ b () tact protection circuits. Use a contact protection
: LED ! Brown [Red] box with an induction load, when lead wires are CD-P11 R )
o ) 5 meters or longer, and with 100VAC. S O T Choke ! Brown lead wire
' urge o
: é Reve s ouUT Load| % ~ abs?)rber : coil :
| H cur‘r’em. { Black [White] S Part no. | Voltage . Lead erg Iength o—r—— o Bluelead wire
+ B preyention: (E) CD-P11 | 100VAC | Switch connection side 0.5m
e o CD-P12 | 24vDC | Load connection side 0.5m CD-P12 o (+) Brown ead i
Blue [Black . . . O——+te " o rown lead wire
e [Black Since D-A90(V) switches have no particular Capaci Ch0}|<e |
specified voltage below 100VAC, select a model apacitor :< RC(_"I |
based on the voltage being used. 0—1—%‘—0 (-) Blue lead wire
Auto Switch Dimensions
D-A90, D-A93, D-A96 D-A90V, D-A93V, D-A96V
2B - MEG R df
L F [ Slottnd mai sorew as
= i e B K
I &
5 i -, e
|Eﬂ.'.'l: Irefcaior bl i -a. P $
5 m":-'::' LEL I ~ T'.l-r':-ln'l‘lsllﬂ oo I|I' Irechezaban ligh N
et i . €L 3
0 ol B wtheoiil indicalor light = Tye D-ABOV F oo
_'E_ . t el bl incicaior kgl i =
B R I :
ot L —+ 1 — b= <
- o= S

Mloss! mereives position

Type D-A93 dimensions are shown inside ( ).

37

O
3

n
. . Mos! soraitien postion




Solid State Switches/Direct Mount Type
D-FION(V), D-FOP(V), D-F9B(V)

Auto Switch Specifications

=

Auto Switch Internal Circuits
Lead wire colors inside [ ] are those prior to
conformity with IEC standards.

D-F9L], D-F9L1V (with indicator light )

Auto switch partno. | D-F9N D-FONV D-F9P D-FOPV D-F9B D-F9BV
Electrical entry direction In-line  |Perpendicular| In-line  [Perpendicular | In-line Perpendicular
Wiring type 3 wire 2 wire

Output type NPN PNP —
Applicable load IC circuit, Relay, PLC 24VDC relay, PLC
Power supply voltage 5,12, 24VDC (4.5 to 28V) —

Current consumption 10mA or less —

Load voltage 28VDC or less — 24VDC (10 to 28VDC)
Load current 40mA or less 80mA or less 5to 40mA
Internal voltage drop 08vor |e1s'55;t/13;1ixe|i: d curen) 0.8V or less 4V or less
Leakage current 100pA or less at 24VDC 0.8mA or less

Indicator light

Red LED lights when ON

D-FON(V)

Main
switch circuit

DC (-)
""""""""""""""" Blue

Main

H '
: ite]
—oDC ()

e GRECCEETTEFLEEP LR, ' Blue

® | ead wire ........ Oil resistant heavy duty vinyl cord, 2.7, 0.5m

D-FIN(V), D-FIP(V)
D-F9B(V)
® Insulation resistance ..

* Withstand voltage .......

® Indicator light................
* Ambient temperature ..

...... 50MQ or more at 500VDC

® Operating time ....Imsorless

0.15mm? x 3 cores ® Impact resistance ... 1000m/s?

(Brown, Black, Blue [Red, White, Black]) e Enclosure ........ IEC529 standard IP67 (JISCO920)
0.18mm?2 x 2 cores Watertight type

(Brown, Blue [Red, Black]) ® For 3 meter lead wire, L is added to end of part
number.

Example) D-FONL

(between lead wire and case)

...... 1000VAC for 1min.

(between lead wire and case)
..... Lights when ON
..... —10to 60°C

Auto Switch Weights

(9
Model D-FON D-F9P D-F9B D-FONV D-FOPV D-F9BV
Lead wire length 0.5m 7 7 6 7 7 6
Lead wire length 3m 37 37 31 37 37 31

Auto Switch Dimensions

[Black]
D-F9B(V)
E"-"""""""""""": o OUT (+)
E ' Brown
: H [Red]
Pl cg L :
&SN T
CLa % :
©0UT (5
""""""""""""""" Blue
[Black]

D-FON, D-F9P, D-F9B

]

_t_n@ L

D-FONV, D-FOPV, D-FO9BV

Mcunbing sorew M2.5 & 46
Eloted sol sonow

Indisator hohl
- I =
—_— =1
a3 _
e — o e e——C

i =

| _Ir.-'-:-sl serisive postion

Mzinling ecrew 2.5 K 4¢
Bloed sel some
=1k Indicatoe light

g |Miosl seraive pasiicn

-

ZSNC 38



Direct Mount Type

I2 Color Indication Solid State Switches

D-FONW(V), D-FOPW(V), D-FOBW(V)

=

Auto Switch Internal Circuits
Lead wire colors inside [ ] are those prior to
conformity with IEC standards.

Auto Switch Specifications

D-FOCIW, D-FOLIWV (with indicator light )

D-FONW/(V)
P ,—K]—o """"""""""" i oDC (+)
H 1 Brown
= i [Red]
3 —o0UT
s 1 Black
128 , [White]
L3 :
E : DC(-)
bommmmmmmmmmmsmmmmmnees Blue
[Black]
D-FOPW(V)
(N LoDC (+)
H Brown
= i [Red]
éi —o0uT
: § + Black
' @ [White]
: \Lw: DC ()
bommmmmmmmssoommseeoooneed " Blue
[Black]
D-FOBW(V)
---------------------- —-o OuUT (+)
Brown
[Red]

Main
switch circuit

[Black]

Indicator light/Display method

[,

Opomin :
o | T |oee
e i
Aed Gl".‘tl'l: I'Iu-'l
1.Fed Joroors e,
=
m-nlﬂ.-nu-'n

[ ——

39

Auto switch part no.| D-FONW | D-FONWV| D-FOPW | D-FOPWV| D-FOBW | D-FOBWV
Electrical entry direction|  In-line Perpendicular|  In-line  |Perpendicular|  In-line  |Perpendicular
Wiring type 3 wire 2 wire
Output type NPN PNP —
Applicable load IC circuit, Relay, PLC 24VDC relay, PLC
Power supply voltage 5,12, 24VDC (4.5 to 28V) —
Current consumption 10mA or less —
Load voltage 28VDC or less — 24VDC (10 to 28VDC)
Load current 0.4mA or less 80mA or less 5 to 40mA
Internal voltage drop | 0.8V or |esls'2Y1%Hiﬁ3ad current) 0.8V or less 4V or less
Leakage current 100pA or less at 24VDC 0.8mA or less

. ) Actuated position ................ Red LED lights up
Indicator light Optimum operating position ... Green LED lights up

® Lead wire ........ Oil resistant heavy duty vinyl cord, 2.7, 0.5m
D-FONW(V), D-FOPW(V)  0.15mm? x 3 cores (Brown, Black, Blue [Red, White, Black])

D-FOBW(V) 0.18mm?2 x 2 cores (Brown, Blue [Red, Black])
® Insulation resistance ....... 50MQ or more at 500VDC
(between lead wire and case)
* Withstand voltage ............ 1000VAC for 1min.
(between lead wire and case)
* Ambient temperature ...... —-10t0 60°C @ Operating time ....... Imsorless e Impactresistance ....... 1000m/s?
® For 3 meter lead wire, L is added to end of part number.
Example) D-FONWL
Auto Switch Weights
(@)
Model D-FONW | D-FONWV | D-F9PW D-FOPWV | D-F9BW | D-FOBWV
Lead wire length 0.5m 7 7 7 7 7 7
Lead wire length 3m 34 34 34 34 32 32
Auto Switch Dimensions
D-FONW, D-FOPW, D-FOBW
Muainling scraw M2.5 « &
Skited 581 scree
= Indicator ight -
A 5
1 , | I—
B & o=
i
)

28

"

i | Mozt sensine positon

D-FONWYV, D-FOPWV, D-FOBWV

Minling scney M35 x 48
ittt sl £k 1

E'rﬁ Inchicatar kght
B Gl
G
o
E
' &

p | Mioal saraitve pasicn




Auto Switch
Connections and Examples

Basic Wiring

Solid state 3 wire, NPN

Solid state 3 wire, PNP

________________ , Brown e emeeeeeo__., Brown b ] e
! *[Red] \ ~ [Red] , A
P b ! .
1 1 [ 1 i
| - O I - I | Main @,
v | Main Black ®: Main Blac @ | switch |
' | switch i — ' | switch ack - Hnd .
v Gireuit [Whlt?] 0 ® o! pridegh [Whlt] ® O o! C|r(|:U|t I@ :
1 | 1 1 1
H . I [ A I g H
R T .. ____7BuUe B [BBlfaeckl [
[Black] [Black]
(Power supplies for switch and load L Brmévn
are separate.) Brown ! [Red] mmeees
: ; v '
| |
: | ! Main i OF
! Main ' switch ! -
' switch ' circuit ! &) '
' circuit ' L !
: ' :
. | R Blue LA
----------------- [Black]

Examples of Connection to PLC

2 wire
<Solid state>

2 wire

<Reed switch>

Brown
__________ ,[Red]
Indicator !
light, '
protection| 1 =+
circuit, '
etc. '
—e-------2Blue
[Black]
Brown
---------- '
[Red]
e
Indicator !
light, '
protection| 1 -~
circuit, '
etc. '
—e--------Blue
[Black]

Sink input specification
3 wire, NPN  Black

[White] Input

S

Source input specifications
3 wire, PNP  Black

2 wire

[Black]

PLC internal circuit

2 wire

[White] Input,

Connect according to the applicable

PLC
conn
pend

Blue
[Black]

Brown
[Red]

BI:Jek
Bl | v
[Black] nput

PLC internal circuit

Connection Examples for AND (Series) and OR (Parallel)

input specifications, as the
ection method will vary de-
ing on the PLC input specifica-

tions.

3 wire

AND connection for NPN output

(using relays)
B

Q ©

AND connection for NPN output
(performed with switches only)
Brown

[

OR connectio

n for NPN output

Red]

<+Relay
contact

Te I‘ ‘@

rown
[Red]
- Black
i
Blue
[Black] Brown [Red]
- Black
B
Blue
[Black]

2 wire with 2 switch AND connection

Switch 1

Blue
[Black]

— Power suppl
Load voltage at ON = voltaggpy -

When two switches are
connected in series, a load
may malfunction because
the load voltage will decline
when in the ON state.

The indicator lights will light
up if both of the switches
are in the ON state.

Internal

|
voltage drop X 2 PCS-

=24V — 4V x 2 pcs.

=16V

Example: Power supply is 24VDC

Internal voltage drop in switch is 4V

- Black
Switch 1 TWhite]
Blue e ®

[Black] g o

[Red]

Black
[White]

Brown
[Red]
- Black
B
® Blue e ® ®
—-‘@ [Black] g own _--‘@
Switch2 K [Red] Black
[White]
Blue

The indicator lights will light up when
both switches are turned ON.

2 wire with 2 switch OR connection

F’,m\é\in e ®
Re:

Ermg]

Load voltage at OFF =

Blue
[Black]

Brown
[Red]

Blue
[Black]

Leakage
current

X 2 pcs. X

[Black]

<Solid state>
When two switches
are connected in

® parallel, malfunction

4{@

may occur because
the load voltage will
increase when in
the OFF state.

. Load
impedance

=1mA x 2 pcs. x 3kQ

=6V

Example: Load impedance is 3kQ
Leakage current from switch is ImA

™

SVC

<Reed switch>

Because there is no current
leakage, the load voltage
will  not increase when
turned OFF. However, de-
pending on the number of
switches in the ON state, the
indicator lights may some-
times dim or not light up, be-
cause of dispersion and re-
duction of the current flow-
ing to the switches.

40



Series MXQ

Auto Switches/Proper Mounting Position for Stroke End Detection

Reed switches: D-A90, D-A93, D-A96, D-A90V, D-A93V, D-A96V

B E .
i Switch
Model A Stroke Stroke operating
10 | 20 | 30 | 40 | 50 | 75 [100125|150| 10| 20 | 30 | 40 | 50 | 75 [100|125|150| ran9e
i HEe————— MXQ6 |6 | 55|55 55/135(135 — | — | —|— | & | B wl®lel— |~ ||| 45
MXQ8 75(8 |8 [12 |16 31 |32 |— | — | — (3?5) (3(.55) (71.?5) (11141;\(7269;\037?5) — || = o)
LA, L E MXQ12 |11.5[24.5(14.514.5(215\21.5[40.5/405| — | — |Gy |0y | iy | oy | (iry | ooy | Goy | — | — | 6
MXQ16 |16.5[30.520.5[20.5[20.5(26.5[33.55L5|51.5| — | ae) | (16 | G5y | a6y | o5y | &5 | | | — | 7
MXQ20 |19 |43.533.523.533.5\31.539.5[71.5(74.577.5| (35, | @53 | 11y | 29 | 202 | (35 | G613 | o0y | o5y | 8
MXQ25 |22 [52.5/42.532.5(32.5|46.5/46.5(60.5|88.5(88.5| tas) | (o5 | o0y | o) | cay | (45 | oy | oy | o5y |~ 9
f | Type D-A93 strokes are shown inside ( ).
Solid state switches: D-F9B, D-F9N, D-F9P, D-FOBW, D-FONW, D-FOPW
B E Switch
B Model A Stroke Stroke operating
-~ 10 | 20 | 30 | 40 | 50 | 75 [100]125]150] 20 | 20 | 30 | 40 | 50 | 75 [100]125]150| "@"9€
MXQ6 |10 | 95| 9.5 95175175 — | — | — | — |-05|-05|-05]75]75| — | — | —|—| 2
MXQ8 |115[12 [12 |16 [20 35 |36 |—|—|— |2 |2 |6 |10|25|26|—|—|—| 25
MXQ12 |155285(185|18.525.525.544.5/445) — | — [18.58.5|8.5(155(155(34.534.5| — | — | 3
MXQ16 [20.5(34.524.5(24.524.5(30.5/37.5/55.5|55.5| — [24.5[14.5(14.514.5(20.527.5[45.5\455| — | 4
MXQ20 |23 |47.5(37.5(27.5(37.5(35.5(43.5(75.5(78.5(81.5(37.5|27.5|17.5|27 5/25.533.5|65.5|68.5|735| 6
MXQ25 |27 [56.5(46.5(36.5(36.5(50.5(50.5(64.5|92.592.5|46.5(36.5(26.5|26.5|40.5(40.554.582.5|73.5| 6

Solid state sw

itches: D-FOBV, D-FONV, D-FOPV, D-FOBWV, D-FONWV, D-FOPWV

B

E

Switch
Model A Stroke Stroke operating
10203040 50] 75 [100]125]150] 20 | 20 | 30 [ 40 | 50 | 75 [100(125]150| "&"9€
MXQ6 |10 | 95| 95| 95175175 — | — | — | — | 15| 15| 15| 95/ 98] — | — | —| =] 2
MXQ8 |[115[12 |12 [16 20 [35 |36 | — | — | —|4 |4 |8 12 |7 28 |- ||| 25
MXQ12 [155(28.5(18.5[18.525.5/25.544.5/44.5| — | — |20.510.5[10.5/17.517.536.5/36.5) — | — | 3
MXQ16 |20.5(34.5(24.5[24.5(24.530.5[37.5[55.5/55.5| — [26.5/16.516.5/16.5[22.5/205/47.547.5| — | 4
MXQ20 |23 [47.5/37.5[27.5(37.5|35.543.5(75.5|78.5/81.5/39.5[29.519.5|29.527 5[35.5|67.5[70.5|75.5| 6
MXQ25 |27 |56.546.5[36.5(36.5/50.5(50.5|64.5|92.5(92.5/48.5|38.5(28.5|28.5|42.5{42.5|56.5(84.5|75.5| 6

Auto Switch Mounting

A Cau“ on Auto switch mounting tools

« When tightening the auto switch set screw
(included with auto switch), use a watch-
makers screw driver with a handle diamete|
of about 5 to 6mm.

Tightening torque

r

« Apply a torque of approximately 0.05 to

0.1NM. As a rule, it can be tightened about

90° past the position at which tightening ca
be felt.

41

n

O

Auto switch

Watchmakers screw driver




Series MXQ o _
Order Made Specifications

Contact SMC for detailed dimensions, specifications and lead times.

Anticorrosive specification for guide section  -X42

MXQ ‘ Standard part no. }X42

Anticorrosive specification
for guide section

Although martensitic stainless steel is used for the table and the guide block,
use this specification when further anticorrosive measures are required.
Anticorrosive treatment is applied to the table and the guide block.

Specifications

Type Anticorrosive specification type
Bore size (mm) 6, 8,12, 16, 20, 25

Fluid Air

Surface treatment Anticorrosive treatment Note 2)

Note 1) Dimensions are identical to standard type.
Note 2) The table and the guide block will be black due to the anticorrosive treatment.

O
3



43

Series MXQ
Safety Instructions

These safety instructions are intended to prevent a hazardous situation and/or
equipment damage. These instructions indicate the level of potential hazard by a
label of "Caution”, "Warning" or "Danger". To ensure safety, be sure to observe
ISO 4414 Note 1), JIS B 8370 Note 2) and other safety practices.

A CautiO N . Operator error could result in injury or equipment damage.

A Warni n g . Operator error could result in serious injury or loss of life.

A Dan g @I . Inextreme conditions, there is a possible result of serious injury or loss of life.

Note 1) ISO 4414: Pneumatic fluid power - Recommendations for the application of equipment to transmission and control

Note 2) JIS B 8370: General Rules for Pneumatic Equipment

/A Warning

. The compatibility of pneumatic equipment is the responsibility of the person

who designs the pneumatic system or decides its specifications.

Since the products specified here are used in various operating conditions, their compatibility for the
specific pneumatic system must be based on specifications or after analysis and/or tests to meet your
specific requirements.

. Only trained personnel should operate pneumatically operated machinery and

equipment.
Compressed air can be dangerous if an operator is unfamiliar with it. Assembly, handling or repair of
pneumatic systems should be performed by trained and experienced operators.

. Do not service machinery/equipment or attempt to remove components until

safety is confirmed.

. Inspection and maintenance of machinery/equipment should only be performed after confirmation of safe

locked-out control positions.

. When equipment is to be removed, confirm the safety process as mentioned above. Cut the supply

pressure for this equipment and exhaust all residual compressed air in the system.

. Before machinery/equipment is restarted, take measures to prevent shooting-out of cylinder piston rod,

etc. (Bleed air into the system gradually to create back pressure.)

. Contact SMC if the product is to be used in any of the following conditions:
. Conditions and environments beyond the given specifications, or if product is used outdoors.
. Installation on equipment in conjunction with atomic energy, railway, air navigation, vehicles, medical

equipment, food and beverages, recreation equipment, emergency stop circuits, press applications, or
safety equipment.

. An application which has the possibility of having negative effects on people, property, or animals,

requiring special safety analysis.

O
3



Al

Series MXQ

Be sure to read before handling.

Design

A\ Warning

1.

There is a danger of sudden action by air
cylinders if sliding parts of machinery are
twisted, etc., and changes in forces occur.

In such cases, human injury may occur; e.g., by catching hands or
feet in the machinery, or damage to the machinery itself may occur.
Therefore, the machine should be designed to avoid such dangers.

. Install a protective cover when there is arisk

of human injury.

If a driven object and moving parts of a cylinder pose a danger of
human injury, design the structure to avoid contact with the human
body.

Securely tighten all stationary parts and
connected parts so that they will not
become loose.

Especially when a cylinder operates with high frequency or is
installed where there is a lot of vibration, ensure that all parts
remain secure.

. A deceleration circuit or shock absorber,

etc., may be required.

When a driven object is operated at high speed or the load is
heavy, a cylinder’s cushion will not be sufficient to absorb the
impact. Install a deceleration circuit to reduce the speed before
cushioning, or install an external shock absorber to relieve the
impact. In this case, the rigidity of the machinery should also be
examined.

Consider a possible drop in operating pres-
sure due to a power outage, etc.

When a cylinder is used in a clamping mechanism, there is a dan-
ger of work pieces dropping if there is a decrease in clamping
force due to a drop in circuit pressure caused by a power outage,
etc. Therefore, safety equipment should be installed to prevent
damage to machinery and/or human injury. Suspension mecha-
nisms and lifting devices also require consideration for drop pre-
vention.

. Consider a possible loss of power source.

Measures should be taken to protect against human injury and
equipment damage in the event that there is a loss of power to
equipment controlled by air pressure, electricity or hydraulics, etc.

Design circuitry to prevent sudden lurching
of driven objects.

When a cylinder is driven by an exhaust center type directional
control valve or when starting up after residual pressure is
exhausted from the circuit, etc., the piston and its driven object will
lurch at high speed if pressure is applied to one side of the cylin-
der because of the absence of air pressure inside the cylinder.
Therefore, equipment should be selected and circuits designed to
prevent sudden lurching because, there is a danger of human
injury and/or damage to equipment when this occurs.

Consider emergency stops.

Design so that human injury and/or damage to machinery and
equipment will not be caused when machinery is stopped by a
safety device under abnormal conditions, a power outage or a
manual emergency stop.

Consider the action when operation is
restarted after an emergency stop or abnor-
mal stop.

Design the machinery so that human injury or equipment damage
will not occur upon restart of operation. When the cylinder has to
be reset at the starting position, install safe manual control equip-
ment.

r
Z

Actuator Precautions 1

A\ Warning

1.

2.

Confirm the specifications.

The products advertised in this catalog are designed according to
use in industrial compressed air systems. If the products are used in
conditions where pressure, temperature, etc., are out of specifica-
tion, damage and/or malfunction may be caused. Do not use in these
conditions. (Refer to specifications.)

Consult SMC if you use a fluid other than compressed air.

Intermediate stops

When intermediate stopping of a cylinder piston is performed with a
3 position closed center type directional control valve, it is difficult to
achieve stopping positions as accurate and minute as with hydraulic
pressure due to the compressibility of air.

Furthermore, since valves and cylinders, etc., are not guaranteed for
zero air leakage, it may not be possible to hold a stopped position for
an extended period of time. Contact SMC in case it is necessary to
hold a stopped position for an extended period.

A\ Caution

1.

Use a speed controller to adjust the cylinder
drive speed, gradually increasing from a low
speed to the desired speed setting.

A\ Caution

1.

2.

Do not use until you can verify that equipment
can operate properly.

Verify correct mounting by suitable function and leakage inspections
after compressed air and power are connected following mounting,
maintenance or conversions.

Instruction manual

The product should be mounted and operated after thoroughly
reading the manual and understanding its contents.
Keep the instruction manual where it can be referred to as needed.

A\ Caution

1.

Preparation before piping

Before piping is connected, it should be thoroughly blown out with
air (flushing) or washed to remove chips, cutting oil and other
debris from inside the pipe.

A\ caution

1.

SVC

Lubrication of non-lube type cylinder

The cylinder is lubricated at the factory and can be used without
any further lubrication.

However, in the event that it will be lubricated, use class 1 turbine
oil (without additives) ISO VG32.

Stopping lubrication later may lead to malfunction due to the loss
of the original lubricant. Therefore, lubrication must be continued
once it has been started.

44



al

Series MXQ

Be sure to read before handling.

Air Supply

A\ Warning

1.

Use clean air.

Do not use compressed air which includes chemicals, synthetic
oils containing organic solvents, salt or corrosive gases, etc., as it
can cause damage or malfunction.

A\ Caution

1.

Install air filters.

Install air filters at the upstream side of valves. The filtration
degree should be 5um or finer.

. Install an after cooler, air dryer or water sep-

arator, etc.

Air that includes excessive drainage may cause malfunction of
valves and other pneumatic equipment. To prevent this, install an
after cooler, air dryer or water separator, etc.

. Use the product within the specified range

of fluid and ambient temperature.

Take measures to prevent freezing, since moisture in circuits can
be frozen under 5°C, and this may cause damage to seals and
lead to malfunction.

Refer to SMC’s “Air Cleaning Equipment” catalog for further
details on compressed air quality.

A Warning

1.

45

Do not use in environments where there is a
danger of corrosion.
Refer to the construction drawings regarding cylinder materials.

In dusty locations or where water, oil, etc.,
splash on the equipment, take suitable mea-
sures to protect the entire unit.

When using auto switches, do not operate in
an environment with strong magnetic fields.
This can cause auto switch malfunction.

O

1.

2.

1.

SVC

Actuator Precautions 2

A\ Warning

Maintenance should be performed accord-
ing to the procedure indicated in the
instruction manual.

If handled improperly, malfunction and damage of machinery or
equipment may occur.

Removal of equipment, and supply/exhaust
of compressed air.

When equipment is removed, first check measures to prevent
dropping of driven objects and run-away of equipment, etc. Then
cut off the supply pressure and electric power, and exhaust all
compressed air from the system.

When machinery is restarted, proceed with caution after confirm-
ing measures to prevent cylinder lurching.

A\ Caution

Drain flushing
Remove drainage from air filters regularly.
(Refer to specifications.)



Series MXQ

Al

Be sure to read before handling.

Auto Switch Precautions 1

Design and Selection

A\ Warning

1. Confirm the specifications.

Read the specifications carefully and use this product appropri-
ately. The product may be damaged or malfunction if it is used
outside the range of specifications of current load, voltage, tem-
perature or impact.

2. Take precautions when multiple cylinders
are used close together.

When multiple auto switch cylinders are used in close proximity,
magnetic field interference may cause the switches to malfunc-
tion. Maintain a minimum cylinder separation of 40mm. (When the
allowable separation is indicated for each cylinder series, use the
specified value.)

3. Pay attention to the length of time that a
switch is ON at an intermediate stroke posi-
tion.

When an auto switch is placed at an intermediate position of the
stroke and a load is driven at the time the piston passes, the auto
switch will operate, but if the speed is too great the operating time
will be shortened and the load may not operate properly. The max-
imum detectable piston speed is:

Auto switch operating range (mm)

V(mm/s) = x 1000

Time load applied (ms)

4. Keep wiring as short as possible.

<Reed switch>

As the length of the wiring to a load gets longer, the rush current
at switching ON becomes greater, and this may shorten the prod-
uct’s life. (The switch will stay ON all the time.)

1) For an auto switch without a contact protection circuit, use a con-
tact protection box when the wire length is 5m or longer.

2) Even if an auto switch has a built-in contact protection circuit,
when the wiring is more than 30m long, it is not able to adequately
absorb the rush current and its life may be reduced. It is again
necessary to connect a contact protection box in order to extend
its life. Please contact SMC in this case.

<Solid state switch>

3) Although wire length should not affect switch function, use wiring
100m or shorter.

5. Take precautions for the internal voltage
drop of the switch.
<Reed switch>
1) Switches with an indicator light (Except D-A96, A96V)

« If auto switches are connected in series as shown below, take
note that there will be a large voltage drop because of internal
resistance in the light emitting diodes. (Refer to internal volt-
age drop in the auto switch specifications.)

[The voltage drop will be “n” times larger when “n” auto switch-
es are connected.]

Even though an auto switch operates normally, the load may
not operate.

A\ Warning

« In the same way, when operating under a specified voltage,
although an auto switch may operate normally, the load may
not operate. Therefore, the formula below should be satisfied
after confirming the minimum operating voltage of the load.

Supply _ Internal voltage , Minimum operating
voltage  drop of switch voltage of load

2) If the internal resistance of a light emitting diode causes a prob-
lem, select a switch without an indicator light (Model D-A90, 90V).
<Solid state switch>

3) Generally, the internal voltage drop will be greater with a 2 wire
solid state auto switch than with a reed switch. Take the same pre-
cautions as in 1).

Also, note that a 12VDC relay is not applicable.

6. Pay attention to leakage current.

<Solid state switch>

With a 2 wire solid state auto switch, current (leakage current)
flows to the load to operate the internal circuit even when in the
OFF state.

Operating current of load (OFF condition) > Leakage current

If the criteria given in the above formula are not met, it will not
reset correctly (stays ON). Use a 3 wire switch if this specification
will not be satisfied.

Moreover, leakage current flow to the load will be “n” times larger
when “n” auto switches are connected in parallel.

7. Do not use a load that generates surge volt-
age.
<Reed switch>

If driving a load such as a relay that generates a surge voltage,
use a switch with a built-in contact protection circuit or use a con-
tact protection box.

<Solid state switch>

Although a zener diode for surge protection is connected at the
output side of a solid state auto switch, damage may still occur if
the surge is applied repeatedly. When a load, such as a relay or
solenoid valve, which generates surge is directly driven, use a
type of switch with a built-in surge absorbing element.

8. Cautions for use in an interlock circuit

When an auto switch is used for an interlock signal requiring high
reliability, devise a double interlock system to avoid trouble by pro-
viding a mechanical protection function, or by also using another
switch (sensor) together with the auto switch. Also perform peri-
odic maintenance and confirm proper operation.

9. Ensure sufficient clearance for maintenance
activities.

When designing an application, be sure to allow sufficient clear-
ance for maintenance and inspections.

46



Series MXQ
Auto Switch Precautions 2

Be sure to read before handling.

al

Mounting and Adjustment

A\ Warning

1. Do not drop or bump.

A\ Warning

5. Do not allow short circuit of loads.

Do not drop, bump or apply excessive impacts (300m/s2 or more
for reed switches and 1000m/s2 or more for solid state switches)
while handling.

Although the body of the switch may not be damaged, the inside
of the switch could be damaged and cause a malfunction.

<Reed switch>

If the power is turned ON with a load in a short circuit condition,
the switch will be instantly damaged because of excess current
flow into the switch.

<Solid state switch>

2. Do not carry a cylinder by the auto switch Models D-FOLI(V), FOLIW(V) and all models of PNP output type
. switches do not have built-in short circuit protection circuits. If
lead wires. loads are short circuited, the switches will be instantly damaged,
Never carry a cylinder by its lead wires. This may not only cause as in the case of reed switches.
broken lead wires, but it may cause internal elements of the 0 Take special care to avoid reverse wiring with the brown (red)
switch to be damaged by the stress. power supply line and the black (white) output line on 3 wire type
3. Mount switches using the proper tightening switches.
torque. 6. Avoid incorrect wiring.
When a switch is tightened beyond the range of tightening torque, <Reed switch>
the mounting screws, mounting bracket or switch may be dam- OA 24VDC switch with indicator light has polarity. The brown (red)
aged. On the other hand, tightening below the range of tightening lead wire or terminal no. 1 is (+), and the blue (black) lead wire or
torque may allow the switch to slip out of position. (Refer to page terminal no. 2 is (-).
41 regarding switch mounting, moving, and tightening torque, 1) If connections are reversed, a switch will operate, however, the
etc.) light emitting diode will not light up.
4. Mount a switch at the center of the operating Also note that a current greater than that specified will damage

range.

Adjust the mounting position of an auto switch so that the piston
stops at the center of the operating range (the range in which a
switch is ON). (The mounting positions shown in the catalog indi-
cate the optimum positions at stroke end.) If mounted at the end
of the operating range (around the borderline of ON and OFF),
operation may be unstable.

A\ Warning

a light emitting diode and it will no longer operate.
Applicable models: D-A93, A93V

<Solid state switch>

1) If connections are reversed on a 2 wire type switch, the switch
will not be damaged if protected by a protection circuit, but the
switch will be in a normally ON state. However, note that the
switch will be damaged if reversed connections are made
while the load is in a short circuited condition.

[P) If connections are reversed (power supply line + and power
supply line =) on a 3 wire type switch, the switch will be pro-
tected by a protection circuit. However, if the power supply line
(+) is connected to the blue (black) wire and the power supply
line (-) is connected to the black (white) wire, the switch will be

damaged.
1. Avoid repeatedly bending or stretching lead
wires.
Broken lead wires will result from repeatedly applying bending
stress or stretching force to the lead wires. OLead wire color changes
2. Be sure to connect the load before power is Lead wire colors of SMC switches have been changed in order to
a lied meet NECA Standard 0402 for production beginning September,
pp : 1996 and thereafter. Please refer to the tables provided.
<2 wire type> Special care should be taken regarding wire polarity during the
If the power is turned ON when an auto switch is not connected to time that the old colors still coexist with the new colors.
a load, the switch will be instantly damaged because of excess
current. 2 wire 3 wire
. . . .. Oold New old New
3. Confirm proper insulation of wiring. oupute) | Red | Brown  Powersuply| Red | Brown
Be cer_tain_ that there is no faulty W‘iring ir]sulation (contact_ with Output () Black Blue GND Black Blue
other circuits, ground fault, improper insulation between terminals, Output White | Black
etc.). Damage may occur due to excess current flow into a switch. ) - -
i . . . Solid state Solid state with latch
4. Do not wire with power lines or high voltage with diagnostic output type diagnostic output
lines. Old New Oold New
Wire separately from power lines or high voltage lines, avoiding Z::V;r Supply BFTEdk B“l)wn (P;ongr supply Flzedk Bé(lnwn
parallel wiring or wiring in the same conduit with these lines. e Ellle Eldo ue
Control circuits containing auto switches may malfunction due to O White | Black — Output White | Black
noise from these other lines. Diagnosticouput| Yellow | Orange  gfagnosticouput| Yellow | Orange
47

O

SVC



Series MXQ
A Auto Switch Precautions 3

Be sure to read before handling.

Operating Environment

A\ Warning

1. Never use in an atmosphere of explosive
gases.

The structure of auto switches is not intended to prevent explo-
sion. Never use in an atmosphere with an explosive gas since this
may cause a serious explosion.

2. Do not usein an area where a magnetic field
is generated.

Auto switches will malfunction or magnets inside cylinders will
become demagnetized. (Consult SMC regarding the availability of
a magnetic field resistant auto switch.)

3. Do not use in an environment where the
auto switch will be continually exposed to
water.

Although switches, except for some models, satisfy IEC standard
IP67 construction (JIS C 0920: watertight construction), do not
use switches in applications where continually exposed to water
splash or spray. Poor insulation or swelling of the potting resin
inside switches may cause malfunction.

4. Do not use in an environment with oil or
chemicals.

Consult SMC if auto switches will be used in an environment with
coolant, cleaning solvent, various oils or chemicals. If auto switch-
es are used under these conditions for even a short time, they
may be adversely affected by improper insulation, malfunction
due to swelling of the potting resin, or hardening of the lead wires.

5. Do not use in an environment with tempera-
ture cycles.

Consult SMC if switches are used where there are temperature
cycles other than normal temperature changes, as they may be
adversely affected.

6. Do not use in an environment where there is

excessive impact shock.

<Reed switch>

When excessive impact (300m/s2 or more) is applied to a reed
switch during operation, the contact will malfunction and generate
or cut off a signal momentarily (1ms or less). Consult SMC regard-
ing the need to use a solid state switch depending upon the envi-
ronment.

7. Do not use in an area where surges are gen-
erated.

<Solid state switch>

When there are units (solenoid type lifter, high frequency induc-
tion furnace, motor, etc.) which generate a large amount of surge
in the area around cylinders with solid state auto switches, this
may cause deterioration or damage to internal circuit elements of
the switch. Avoid sources of surge generation and disorganized
lines.

8. Avoid accumulation of iron debris or close
contact with magnetic substances.

When a large amount of ferrous debris such as machining chips
or welding spatter is accumulated, or a magnetic substance
(something attracted by a magnet) is brought into close proximity
with an auto switch cylinder, it may cause auto switches to mal-
function due to a loss of the magnetic force inside the cylinder.

A Warning

1. Perform the following maintenance periodi-
cally in order to prevent possible danger due
to unexpected auto switch malfunction.

1) Securely tighten switch mounting screws.
If screws become loose or the mounting position is dislocated,
retighten them after readjusting the mounting position.

2) Confirm that there is no damage to lead wires.
To prevent faulty insulation, replace switches or repair lead wires,
etc., if damage is discovered.

3) Confirm the lighting of the green light on a 2 color indicator type
switch.
Confirm that the green LED is on when stopped at the established
position. If the red LED is on, the mounting position is not appro-
priate. Readjust the mounting position until the green LED lights

up.

A\ Warning

1. Consult SMC concerning water resistance,
elasticity of lead wires and usage at welding
sites, etc.

ZS\NC 48



Series MX
Specific

(Igroduct Precautions 1

Be sure to read before handling.
Refer to pages 43 through 48 for safety instructions, actuator precautions and auto switch precautions.

|

Selection |

|

Mounting

/\ Caution

1.

Use a load within a range that
does not exceed the operat-
ing limit.

Select models based on the maximum
load weight and the allowable moment.
Refer to model selection on pages 7 and
8 for detailed methods. If operated be-
yond the operating limit, the eccentric

load applied to the guide section will be
excessive. This can have an adverse ef-
fect on service life due to vibration in the
guide unit and loss of accuracy, etc.

2. When performing intermedi-
ate stops with an external
stopper, employ measures
to prevent lurching.

If lurching occurs damage can result.
When making a stop with an external
stopper to be followed by continued for-
ward movement, first supply pressure to
momentarily reverse the table, then re-
tract the intermediate stopper, and final-
ly apply pressure to the opposite port to
operate the table again.

3. Do not operate in such a way
that excessive external forces
or impact forces are applied
to the product.

This can cause damage.

| Mounting |

A\ Caution

1. Do not scratch or gouge the
mounting surfaces of the
body, table and end plate.
This can cause loss of parallelism in the
mounting surfaces, vibration in the
guide unit and increased operating re-
sistance, etc.

2. Do not scratch or gouge the
transfer surfaces of the rail
and guide.

This can cause vibration and increased
operating resistance, etc.

49

8.

. Do not apply strong impacts

or excessive moment when
mounting work pieces.
Application of external forces greater
than the allowable moment can cause
vibration in the guide unit and increased
operating resistance, etc.

. Ensure that the parallelism

of the mounting surface is
0.02mm or less.

Poor parallelism of the work piece
mounted on the air slide table, the
base, and other parts can cause vibra-
tion in the guide unit and increased op-
erating resistance, etc.

. For connection to a load

that has an external support
or guide mechanism, select
an appropriate connection
method and perform careful
alignment.

.Do not bring hands, etc.,

near the air slide table when
in operation.

Hands, etc., may get caught in the
stroke adjuster. Install a cover as a

safety measure if there are instances to
be near the slide table during operation.

. Do not bring into close con-

tact with objects which
would be influenced by a
magnetic field.

As an air slide table has magnets built-
in, do not allow close contact with mag-
netic disks, magnetic cards or magnetic
tapes. Data may be erased.

Do not attach magnets to
the table section.

Since the table is constructed with a
magnetic substance, it becomes mag-
netized when magnets, etc. are attach-
ed to it, and this may cause malfunction
of auto switches, etc.

O
3

9. When mounting an air slide

table, use screws of an ap-
propriate length and tighten
them properly at no more
than the maximum tighten-
ing torque.

Tightening with a torque above the limit

can cause malfunction, while insuffi-
cient tightening can cause slippage and

dropping, etc.

1. Side mounting type (tapped holes)

o

i i Max. screw-in

Model | Bolt | M N | depth (Irm)
MXQ 6 | M4x0.7 2.1 8
MXQ 8 | M4x0.7 2.1 8
MXQ12 | M5x 0.8 4.4 10
MXQ16 | M6 x 1 7.4 12
MXQ20 | M6 x 1 7.4 12
MXQ25 | M8 x 1.25 18 16

2. Side mounting type (through holes)

Max. tightenin

Model Bolt torqt?e wag Imm
MXQ 6 | M3x05 12 105
MXQ 8 | M3x0.5 1.2 12.5
MXQ12 | M4x0.7 2.8 16
MXQ16 | M5x 0.8 5.7 21
MXQ20 | M5x0.8 5.7 26
MXQ25 | M6x 1 10 32

3. Vertical mounting type (tapped holes)

20007777
gl
vacel | gt |V et |r s
MXQ 6 [M25x0.45 05 4
MXQ 8| M3x0.5 0.9 4
MXQ12 | M4 x0.7 2.1 6
MXQ16 | M5x0.8 44 7
MXQ20 | M5x0.8 4.4 8
MXQ25 | M6 x 1 7.4 10




Series MX
Specific

%roduct Precautions 2

Be sure to read before handling.
Refer to pages 43 through 48 for safety instructions, actuator precautions and auto switch precautions.

|

Mounting

|

|

Operating Environment |

| Handling of Adjuster Options |

/A Caution

1. Front mounting type

7

=

7

A\ Caution

To prevent the work piece holding
bolts from touching the end plate, use
bolts that are 0.5mm or more shorter
than the maximum screw-in depth. If
long bolts are used, they can touch the
end plate and cause malfunction, etc.

Model Bolt Mét‘gr-(;glﬁgg %:;fhs(c{ﬁNr;;
MXQ 6 | M3x0.5 0.9 5
MXQ 8 | M4 x0.7 2l 6
MXQ12 | M5x0.8 44 3
MXQ16 | M6 x 1 7.4 10
MXQ20 | M6 x 1 7.4 13
MXQ25 | M8 x 1.25 18 15

1. Top mounting type

Guide block

/\ Caution

To prevent the work piece holding
bolts from touching the guide block,
use bolts that are 0.5mm or more
shorter than the maximum screw-in
depth. If long bolts are used, they can
touch the guide block and cause mal-
function, etc.

/\ Caution

1.

Do not use in environments
where there is direct expo-
sure to liquids such as cut-
ting oil.

Operation in environments where the
body is exposed to cutting oil, coolant
or oil mist can cause vibration, in-

creased operating resistance and air
leakage, etc.

. Do not use in environments

where there is direct expo-
sure to foreign matter such as
dust, dirt, chips and spatter.

This can cause vibration, increased op-
erating resistance and air leakage, etc.

Consult SMC regarding use in this kind
of environment.

. Provide shade in locations

exposed to direct sunlight.

Block off sources of heat lo-
cated near by.

When there are heat sources in the sur-
rounding area, radiated heat may cause
the product's temperature to rise and ex-
ceed the operating temperature range.
Block off the heat with a cover, etc.

. Do not use in locations where

vibration or impact occurs.

Consult SMC regarding use in this kind
of environment, as damage and mal-
function can result.

|

Handling of Adjuster Options \

vode | ot [Maxtttenng ar s .

MXO 6 | M3x05 12 2 Stroke adjuster

MXQ 8| M3x0.5 1.2 4.8 .

MXQ12 | M4 x0.7 2.8 6 ACau“on

MXQ16 | M5x0.8 5.7 7

MXQ20 | M5x0.8 5.7 95 1. Do not replace the special
Lplozs | LiBia 40 5 adjusting bolt with other

1. The positioning holes of the

table and the bottom side of
the body are not aligned.
These positioning holes are
used for re-mounting pur-
poses after the product has
been removed for mainte-
nance, etc.

bolts.

This may cause looseness and damage
due to impact forces, etc.

. Use the tightening torque in

the table below for the lock
nut.

Insufficient torque will cause a de-
crease in the positioning accuracy.

Model Tightening torque NI
MXQ 6 3.0
MXQ 8 5.0
MXQ12 12.5
MXQ16 25.0
MXQ20 43.0
MXQ25 69.0

™

SVC

Stroke adjuster

/\ Caution

3.

Do not strike the table with
a wrench, etc., when adjust-
ing the stroke adjuster.

This will cause looseness.

With shock absorber

/A\ Caution

1.

2.

3.

4.

Never turn the screw on the
bottom of the shock absorb-
er body.

This is not an adjustment screw. Turn-
ing it can cause oil leakage.

Do not scratch the sliding
surface of the shock ab-
sorber's piston rod.

This can cause a loss of durability and
return malfunction.

Do not turn

Piston rod bottom screw.

Do not damage.

The shock absorber is a
consumable part. Replace-
ment is necessary when a
drop in energy absorbing
capacity is noticed.

Applicable size Shock absorber model
MXQ 8 RB0805
MXQ12 RB0806
MXQ16 RB1007
MXQ20 RB1411
MXQ25 RB1412

Use the tightening torque in
the table below for the
shock absorber's lock nut.

Model Tightening torque N[
MXQ 8
MXQ12 1.67
MXQ16 3.14
MXQ20
MXQ25 10.8

50



Series_MX% _
Specific Product Precautions 3

Be sure to read before handling.
Refer to pages 43 through 48 for safety instructions, actuator precautions and auto switch precautions.

Al

| Handling of Functional Options |
With end lock

/A\ Caution

1.Use 2 position solenoid

| Handling of Symmetric Type |

/\ Caution

1. When mounting a standard
type and a symmetric type

With buffer mechanism

A\ Caution

1. Use air slide tables with buf-

valves with 4 or 5 ports.

A malfunction may occur with a control
circuit that exhausts from both ports,
such as exhaust center 3 position
valves.

Recommended pneumatic circuit

iﬁ'

/‘v
e

| !
EnSall

ML

Air slide table
W

2. Be sure to connect a meter-

out speed controller to the
cylinder.

When the cylinder is operated with me-
ter-in speed control or without a speed
controller, a malfunction may occur.

fer mechanism in the orien-
tations shown below.

In horizontal operation, the buffer may
travel the stroke length and activate the
auto switch depending on the load and
the speed. Therefore, adjust the speed
according to the load.

Horizontal

3. Be sure to release the air 2 Buffer mechanism auto
pres_sure when manua”y un- switch: Refer to the table
locking the end lock. below for the proper mount-
When the end lock is unlocked while the ing pOSitiOl’\S for stroke end
air pressure still remains, it may cause a detecti
damage to the work piece, etc. etection.

Normally OFF
) NIl detection
rManually unlocking the end lock—
[Before proceeding, make sure that there is no
remaining air pressure. :é:
1. Push down the lock piston. RERES &
2. Slide the table forward. A**iﬁ@—CB@f*
B %
|l B
Normally ON
detection
[Adjust the auto switch position according to
the load and the speed.
(Unit: mm)
Model A B
MXQ 6 2
MXQ 8 25
MXQ12 4 3
MXQ16 5
MXQ20 55
MXQ25 10
51

O

SvC

side by side, allow a space
of 3mm or more between
them.

A malfunction of the auto switch may
occur with less space.

Allow a space of 3mm or more
for a side by side mounting.







r
7

SMC'S GLOBAL MANUFACTURING, DISTRIBUTION AND SERVICE NETWORK

|
] I}

T T
I M

. A n
/] 1
] J \
: ! oY
/]
j
H
| P ]
2 S\VC
EERLs
s VY, |
| /
Txi it [
1

EUROPE EUROPE NORTH AMERICA
AUSTRIA SPAIN/PORTUGAL CANADA
SMC Pneumatik GmbH SMC Espafia, S.A. SMC Pneumatics (Canada) Ltd.
CZECH SWEDEN MEXICO
SMC Czech s.r.o. SMC Pneumatics Sweden AB SMC Corporation (Mexico) S.A. de C.V.
DENMARK SWITZERLAND USA
SMC Pneumatik A/S SMC Pneumatik AG. SMC Pneumatics, Inc.
FINLAND UK
SMC Pneumatiikka OY SMC Pneumatics (U.K.) Ltd. SOUTH AMERICA
FRANCE ARGENTINA
SMC Pneumatique SA ASIA SMC Argentina S.A.
GERMANY CHINA BOLIVIA
SMC Pneumatik GmbH SMC (China) Co., Ltd. SMC Pneumatics Bolivia S.R.L.
HUNGARY HONG KONG BRAZIL
SMC Hungary Kit. SMC Pneumatics (Hong Kong) Ltd. SMC Pneumaticos Do Brazil Ltda.
IRELAND INDIA CHILE
SMC Pneumatics (Ireland) Ltd. SMC Pneumatics (India) Pvt. Ltd. SMC Pneumatics (Chile) S.A.
ITALY MALAYSIA VENEZUELA
SMC ltalia S.p.A. SMC Pneumatics (S.E.A.) Sdn. Bhd. SMC Neumatica Venezuela S.A.
NETHERLANDS PHILIPPINES
SMC Pnuematics BV. SMC Pneumatics (Philippines), Inc. OCEANIA
NORWAY SINGAPORE AUSTRALIA .
SMC Pneumatics Norway A/S SMC Pneumatics (S.E.A.) Pte. Ltd. SMC Pneumatics (Australia) Pty. Ltd.
ROMANIA SOUTH KOREA NEW ZEALAND
SMC Romania s.r.l. SMC Pneumatics Korea Co., Ltd. SMC Pneumatics (N.Z.) Ltd.
RUSSIA TAIWAN
SMC Pneumatik LLC. SMC Pneumatics (Taiwan) Co., Ltd.
SLOVAKIA THAILAND
SMC Slovakia s.r.o. SMC Thailand Ltd.
SLOVENIA

SMC Slovenia d.o.o.

SMC CORPORATION

1-16-4 Shimbashi, Minato-ku, Tokyo 105-0004, JAPAN

Tel: 03-3502-2740 Fax: 03-3508-2480
URL http://www.smcworld.com
© 2000 SMC CORPORATION All Rights Reserved

ist printing May, 2000 D-SMC.LA. P-80 (YG)

Specifications are subject to change without prior notice

and any obligation on the part of the manufacturer.

Printed in Japan.



